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UGC NET PAPER 2 NOVEMBER 24, 2021 SHIFT 1 ECONOMICS QUESTION PAPER

Topic:- GP_Z4NOV_A

1) Study the given table carefully and answer the questions that follow,

Number (N} of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
vear N [Prwi s Peain e
2016 23132 healsz heolss B3 |9
2017 20248 [zl Rashs Ba |2
2018 1989 pozfp7 haopz o |
2019 185028 paols hsole 27 |
2020 22033 [rools bBssho ko |

frrefaiaa arferst w1 aamrgd s afge st = R o ast # oo difsg

frg ot § =1z Brw - fivw w59t (A, B, €, D) § uw frefemes waa odhar & afdafem 89 99 sreafdat s g (N) @9
/) AT IT q0Gr § 969 g1 arat avgtHF| 71 wivaaar (p) frafafgg arfasr® digdtr € -

sy A B C D

EL N P(%) N P(%) | N P(%) | N P(%)
2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29
2017 2.02 44 1.72 | 41 |2.45]| 36 | 3.1 32
2018 1.98 39 2,02 | 37 (2,20 33 |29 31

2019 1.85 28 2,10 | 43 |2.50| 42 |[2.7| 34
2020 2.20 33 1.90| 46 |2.55| 30 | 3.0 35

Find out the total number of students who have cleared the entrance exam from 2016 to 2020 in State A.

2016 § 2020 95 ST AT 790 o0& & 957 917 19 F=nfdai 8 g degr ara =¥
[Question ID = 1161][Question Description = $2_qSNz_PG_GP14_Q01]

1. 3554607355460 [Option ID = 4641]
2. 364420364420 [Option ID = 4647]
3. 360890/360890 [Option ID = 4643]
4. 3586607358660 [Option ID = 4644]

Correct Answer ;-
a 355460/355460 [Option ID = 4641]

2) Study the given table carefully and answer the questions that follow,

Number (N} of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)

and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
vear N [Prwin  Pean e e
2016 231132 [ealsz heolss B3 |9
2017 20248 [zl Rashs Ba |2
2018 1989 pozfp7 paopz o |
2019 185028 paols Rksolz 7 |38
2020 220033 |toofs bRsspo Bo s
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frrwfaiaa arferst w1 amrgds afge st = R o ast $ 3o fifsg:

frg ot § =1z Brw - forw Trswt (A, B, €, D) § uw frafames wa odhar & afdafem 29 9= sreafdat s g (N) (@"
) AT IT o0ar # a6 g1 arat avgtHFt 11 wivaaar (p) frafafgg afasr# frgdr € -

sy A B C D

EL N P(%) N P(%) | N P(%) | N P(%)
2016 .31 32 1.64 | 42 |2.60| 46 | 3.3 | 29
2017 2.02 44 1.72 | 41 2.45| 36 |3.1| 32
2018 1.98 39 2,02 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.,50| 42 |[2.7| 34
2020 2.20 33 1.90| 46 |2.55| 30 | 3.0 35

Find out the average number of students who qualified in 2020 (from all states).

2020 & (ot TrsAT /) 6T A 91 FAarfEat i v Fear AT £

[Question ID = 1162][Question Description = $2_qSNz_PG_GP14_Q02]
84550784550 [Option ID = 4645]
86770/86770 [Option ID = 4646)
85375/85375 [Option ID = 4647)
84580/84580 [Option ID = 4648]

T

Correct Answer ;-
o §4550/84550 [Option ID = 4645]

3) Study the given table carefully and answer the questions that follow,

Number (N} of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
vear N [Prwi  Pean  Peain e
2016 231132 sz heolss B3 |9
2017 202laa 7zl pasPs 1 [
2018 1989 pozfp7 haopz o |
2019 185028 paolss Rksolz 27 |3
2020 22033 [rools Bssho Bo s

frrefaiaa arferst w1 aamrgd s afge st = R o ot $ oo fifsg:

frg ot § =1z Brwr - fivw Trs9t (A, B, €, D) § uw frafeames wa odhar & afdafem 29 99 sreafdat s g (N) @e
#) T sw TOATH FHe g ara aeatgat #1 wivawar () e arfastd frgdh € -

sy A B C D

EL N P(%) N P(%) | N P(%) | N P(%)
2016 2:31 32 1.64 | 42 |2.60| 46 | 3.3 | 29
2017 2.02 44 1.72 | 41 | 2.45] 36 | 3.1| 32
2018 1.98 39 2,02 | 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 [2.7| 34
2020 2.20 33 1.90| 46 |2.55| 30 | 3.0 35

Find out the difference between the total number of students who qualified in 2017 and the total number of students who

qualified in 2018 (from all states):

(@t TrsT /) 2017 F oFe g1 919 Frarfiay 1 go goar @7 2018 # aww g arat frarffiat 1 ga d=ar s1 Faeara w1
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31750/31750 [Option ID = 4649]
31880731880 [Option ID = 4650)
32220/32220 [Option ID = 4651]
32340732340 [Option ID = 4652)

N TR 5 Y

Correct Answer ;-
a 31750/31750 [Option 1D = 4649]

4) Study the given table carefully and answer the questions that follow,

Number (N} of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
vear N [Prwi  Pean  Peain  feise)
2016 23132 [ealiz heolss B3 |9
2017 20248 [z Rashs Ba |2
2018 1989 pozfp7 paop3 o |
2019 18528 paolss hksolz 27 |34
2020 22033 |rools bRssho Bo s

frwfaiaa arferst w1 aard s afe st = R o ast $ oo fifso:

fag g et § =1z Brw - fovw <roat (A, B, €, D) § uw Frefamss waa odhar & aftafem 9 9= sreafdat s a1 (N) @"
) AT IT o0ar § a6 g1 arat avgtHFt 11 wivaaar (p) frafafgg afasr# frgdr € -

sy A B C D

EL N P(%) N P(%) | N P(%) | N P(%)
2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29
2017 2.02 44 1.72 | 41 |2.45]| 36 | 3.1| 32
2018 1.98 39 2,02 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 43 |2.,50| 42 [2.7| 34
2020 2.20 33 1.90| 46 |2.55| 30 | 3.0 35

In which year did the highest humber of candidates clear the entrance exam from 5State B?

frw ad & Trsw B & wfywaw dear § avrdf wdq ohar § 9v7 g ?

[Question ID = 1164][Question Description = $2_qSNz_PG_GP14_Q04]

1. 2019/2019 [Option ID = 4653]
2. 2020/2020 [Option ID = 4654]
3. 2016/2016 [Option ID = 4655]

4. 2018/2018 [Option ID = 4656]

Correct Answer ;-
o 201972019 [Option ID = 4653]

5) Study the given table carefully and answer the questions that follow,

Number (N} of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
vear N [Prei Pean  Peain e
2016 23132 a2 heolss B3 |9
2017 202aa [7zl hass a1 |
2018 1989 pozfp7 paop3 o |
2019 185028 paolss hksolz 27 |38
2020 22033 [tools bBssho Bo s
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frrefaiaa arferst w1 aamrgd s afge st = R o ot $ oo fifsg:

frg ot § =1z Brwr - fivw Trs9t (A, B, €, D) § uw frafeames wa odhar & afdafem 29 99 sreafdat s g (N) @e
#) T sw TOATH FHe g ara aeatgat #1 wivawar () e arfastd frgdh € -

s A B C D

EL N P(%) N P(%) | N P(%) | N P(%)

2016 2:31 32 1.64 | 42 |2.60| 46 | 3.3 | 29

2017 2.02 44 1.72 | 41 | 2.45] 36 | 3.1| 32

2018 1.98 39 2,02 | 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 [2.7| 34

2020 2.20 33 1.90| 46 |2.55| 30 | 3.0 35

Find out the average number of non-qualified candidates in 2019 (from all states).

2019 ® (T4 Tr=AT ) swwa werfdat 7 shag Fear Mg L ;

[Question ID = 1165][Question Description = $2_qSNz_PG_GP14_Q05]
135320/135320 [Option |D = 4657]
144025/144025 [Option 1D = 4658]
137270/137270 [Option 1D = 4659]
139870/139870 [Option 1D = 4660]

b B

Carrect Answer ;-
& 135320/135320 [Option ID = 4657]

Topic:- GP_24NQV_B

1) What is the name for the technique which uses images that are often more evocative than words, and more precise and
potent in triggering a wide range of associations and thinking?

I TFATE FT #7717 & Brad F5T F1 99707 BFar I197 2 0 917 0587 7 wer 7w 917 ;T 79 § o Afyg wwre s
HTEAAT ATHT T 5973 F g g+ 7 afwarsta g ?

[Question ID = 1166][Question Description = $2_qS5Nz_PG_GP14_Q06]

Brafnstorming/fa=mrarer [Option 1D = 4661]
Story boarding /=141 T [Option ID = 4662]
Synectics/ =T [Option ID = 4663)
Mind-mapping/mTE= - AT [Option ID = 4664]

HE N PR gy

Correct Answer :-
& Brainstorming/f=S=TEraer [Option 1D = 4661]

2) The satellite used for the transmission and telecast of SWAYAMPRABHA is called

'TETAT B AT AT wAaRY $ e anw frram am s SIS © -

[Question ID = 1167][Question Description = $2_q5Nz_PG_GP14_Q07]
EDUSAT Satellite/Tgéz I7E [Option ID = 4665]

GSAT-15 Satellite/sfHEz - 15 F9ag [Option ID = 4666]

GSAT-3 Satellite/sf5= - 3 3wwg [Option ID = 4667]

SP-EDU-15 Satellite/Todt - 7g - 15 T90E [Option ID = 4668]

N R FU T o Qe

Correct Answer ;-
e EDUSAT Satellite/Tg F9Z [Option ID = 4665]

3) Given below are two statements
Statement I: Personal competencies determine how we manage ourselves
Statement |l: Social competencies determine how we handle relationships

In light of the above statements, choose the most appropriate answer from the options given below

o frsaafegag g :
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FAT - | : ITFF HATE AT FIAT E 156 T TOATIST 57 F9 € Your Personal Exams Guide
F97 - || : grATias gaard fFraffea sdt @ Pr o ady 3 fAard €

IUUH FITT * ATF A, 42 g g faweat & 4 9t 3¢ 619979 A

[Question ID = 1168][Question Description = 52_qSNz_PG_GP14_Q08]

Both Statement | and Statement |l are correct/F4 | 3T || AT A5 5 [Option 1D = 4669]

Both Statement | and Statement |l are incorrect/F9= | 3ii || 24T T=19 € [Option D = 4670]

Statement | is correct but Statement Il is incorrect/ 4+ | Bg1 &, Toeg F9 Il Tora 2 [Option ID = 4671]
Statement | is incorrect but Statement |l is correct/®=w | e 2, foeg waw || w81 & [Option ID = 4672]

e

Correct Answer :-
# Both Statement | and Statement |l are correct/=H% | 3% || THT @&t & [Option ID = 4669]

4) Match List 1 with List 1l

List | List Il

Thinking Hat System Concepts and Ideas

A. White Hat I. Judgement and caution-the logical negative

B. Red Hat ‘II. Data gathering-facts, figures, information needs and gaps|
C. Black Hat |III. Provocations, alternatives and creativity-proposals

D. Green Hat |IV. Intuition and emotions

Choose the correct answer from the options given below:

AT -1 %7 gAT -1 | gRfHg Fifvg

AT -1 AT -l
gj:;iq;: Tt (T [T strT fa=ry)
A. T 2T I Frofa sfrT = - qrfss v arcas
8. srer YT |l. 929 WA - €T, AFS, FIATHT
) sqFary T wivaf
C. FTHT T . 3graa, Frawy &< TIATEHF - gEATT
D. g51 =t Iv. stami sh< ATeETE

A= o Brawedt F & 9t g9z gfac .
[Question ID = 1169][Question Description = $2_qSNz_PG_GP14_Q09]

1. A-lll, B-ll,C-IV, D-I[Option ID = 4673]
2. A-ll,B -1V, C-l,D-ll [Option ID = 4674]
3. A-IV,B-l, C-lll,D-Il [Option ID = 4675]
4. A-1,B-ll,C-Il, D-IV[Option |D = 4676]
Correct Answer ;-
« A-ll,B-NI,C-IV,D-l[Option ID = 4673]

5) Which of the following are in the "Six Thinking Hats System”, a form of parallel thinking?
A. Brown Hat

B. White Hat

C. Violet Hat

D. Red Hat

E. Black Hat

Choose the correct answer from the options given below:

"gg THaT 9T v (Rysw [T 22w faeem &, Srawiac g srus sv g, e d f st -sta 8 ¢ 2
A. 8 @TIT) 9T

B. = It

C. ¥t T4t

D. sTer 4T

E. Tt Zit

1= faw oo fawsTi § § 9 59 F7 997 FHifsg ;

[Question ID = 1170][Question Description = 52_qSNz_PG_GP14_Q10]

1. A, Band C only/%a A, B #iT C [Option ID = 4677)
2. B, C and D only/%i9w B, C =% D [Option 1D = 4678]
| 3. C, DandE only/%aw C, D 3T E [Option ID = 4679]
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| 4. B, D and E only/F== B, D &< E [Option ID = 4680] Your Personal Exams Guide
Carrect Answer ;-
s A, Band C only/Fa= A, B sfiT € [Option ID = 4677]

6) An extraneous variable is also known as

TREZTIETFr X rE AT A ATATATAT R ?

[Question ID = 1171][Question Description = 52_qSNz_PG_GP14_Q11]
1. Artifact/ATTagis (Afehaz) [Option ID = 4681]

2. Dependent variable/¥% =% [Option 1D = 4682]

3. Intervener/sfa:raa (F2<dimT) [Option ID = 4683]

4. Contiguous factor/affEd =rF [Option 1D = 4684]

Correct Answer ;-

e Artifact/am Ty (TEdF2) [Option ID = 4681]

7) Which of the following are advantages of observation as a tool of data collection?
A. Observation takes place only in natural settings

B. Observation methods demand the active participation of subjects in the programme
C. Observations are known for directness

D. Artificiality can be minimised in observational studies

E. Recording devices can be used in observational studies for accuracy

Choose the correct answer from the options given below:

TTTUE S ITFM 3 TTH Foqur 3 frafafga A a srv-Fawg ?

A, g Faw wrHfaFs whaa # grard

B. ¥eor fafaat & forg srfsw & saf #1 afeg arsfiard #1 srasaswar grat &

C. ¥ YT F fAg s s §

D. ¥ AT AT ¥ FIATAT £ ~yHIw Prr v award

E. Y90 AsF A£qqq1 & 9ErwaT % e fewrd w38 avat giveat (@argah) srady fSFararasarg
A fRT o fraedt F @ gt ST ST 97T fifve

[Question ID = 1172][Question Description = $2_qSNz_PG_GP14_Q12]

1. A, B and C only/#3= A, B 3fiT C [Option ID = 4685]
2. B, C and D only/@== B, C &< D [Option ID = 4686]
3. C, D and E only/%= C, D &< E [Option 1D = 4687]
4. A, B and E only/a@=< A, B & E [Opticn ID = 4688]

Correct Answer ;-
e A, Band C only/Fa% A, B #iT C [Option ID = 4685]

8) The characteristics of a normal distribution curve are:

A. It reflects an asymmetrical distribution

B. It is bell-shaped

C. It does not show standard deviations

D. The mean, mode and median coincide at the centre of the distribution
E. The curve is based on an infinite number of observations

Choose the correct answer from the options given below:

ATATAT AT IF &1 fadward §

A. 7g gafaa faaew w1 wiafafya scarg

B. I HEITATRIAT &

C. ATAF fa=a 9 fearar g

D. AT&T, 4§ S AT ATIEqFT g & Fg o dardT gra €
E. % 687 X501 T arariea grar g

= fyT o faswsai & € 9t ST FT wTTAAfNT;
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[Question ID = 1173][Question Description = $2_q5Nz_PG_GP14_Q13]

A, B and C only/@=« A, B &€ C [Option ID = 4689]
B, € and D only/3=< B, C 3= D [Option ID = 4690]
C, D and E only/3== C, D =< E [Option ID = 4691]
B, D and E only/%3% B, D #iT E [Option ID = 4692]

T

Correct Answer ;-

e A, Band C only/Fa% A, B #iT C [Option ID = 4689]

prepp

Your Personal Exams Guide

9) Given below are two statements

Statement I: A variable measured at the nominal level can be used in higher-level statistics if it is converted into another

form.
Statement II; The result of the conversion process is called dummy variable,

In light of the above statements, choose the correct answer from the options given below

AT Fgafrgag g :

FUT - | : ATAATAF T I AT T HT 9907 sgeadia @i i+t # g a+war & gty =9 safa s Rarsmn
F97 - || : Torg<e F1 wH6aT $ afomy w1 arard T vE ©

IUUD FIT * ATF 7, 19 g ag fywet & 4 9t T 619979 Ffg

[Question ID = 1174][Question Description = 52_qSNz_PG_GP14_Q14]

Both Statement | and Statement Il are true/®a= | =< || 9T 7 £ [Option 1D = 4693)

Both Statement | and Statement [l are false/9 | 3T || FHT %TT 2 [Option 1D = 4694]
Statement | is true but Statement Il is false/®99 | ¥4 7, Toheg F99 || /@ & [Option 1D = 4695)
Statement | is false but Statement Il is true/®= | 5o , Towg F99 Il ¥09 & [Option 1D = 4696]

bt B

Carrect Answer ;-

» Both Statement | and Statement Il are true/F¥+ | 3% || =T G £ [Option ID = 4693]

10) Match List | with List Il

List | IList 1

Types of Design ICharacterestics

A. Solomon Four Group Design |I. It is a cross-sectional design

B. Post-test only Control Group Design |II. Contains an additional set of control and experimental groups

C. One-shot Case Study |III. Omits the pre-tested groups altogather

D. Correlational Design |IV. Observation of a single group at one point of time to ocbserve the change

Choose the correct answer from the options given below:

AT -1 FT AT -1 | gAR@ HHT

AT -1 AT -l
(HATHFET F THO) (Fretwam)
A, FIEAT FTATTEE ]
e | T8 TF i - FFATT ATHFET &
B. wdtarviiaia o« g o ll, 27 = T s fas gl s1UF
FHE ATweT afyfrs aqga grar
C. 97 - itz $9 897 %"‘ 94 - wdifera gt #1 Qfqar e v
. - e Iv, afcada &7 Ifra w7 3 v os auy
SRR W UF THE BT IHT

= faT o fawsat & 4 gt s gfao:
[Question ID = 1175][Question Description = $2_qSNz_PG_GP14_Q15]

1. A-1,B-Il, C-ll, D-IV [Option ID = 4697]
2. A-ll,B-lll,C-IV, D -l [Option ID = 4698]
3. A-lll,B-IV,C-l,D-Il [Option ID = 4699]
4. A-IV,B-1,C-Il,D-lll [Option ID = 4700]

Correct Answer ;-

o A-l,B-Il,C-Ill,D-IV [Option ID = 4697]

11) The dynamics of classroom interaction can be effectively managed through

FATH TRETTE FraT 1 wfrat #1 fhas areq9 § waraeardt ev & wafa frarsrasarg ?
[Question ID = 1176][Question Description = $2_qSNz_PG_GP14_Q16]
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Language complexity/wTaT I stfe=rar [Option 1D = 4702)

Interpreting perceived meanings /A= T 4T £ =T&4T F4% [Option ID = 4703]
Repetitive symbolism /gt seftdiFwor [Option ID = 4704]

oW =

Correct Answer -
e Verbosity/s=s1Ea7 [Option ID = 4701]

12) Which of the following are myths about communication?
A. Good communicators are born, not made

B. Stage fright is not a communication apprehension

C. Communication skills have nothing to do with relationships
D. Communication has its own barriers

E. Practice leads to the right habits of communication

Choose the correct answer from the options given below:

Hauw @ fawg # fAwfrfaad @ otaq frasd ?

A. =8 GATF AFAATT 51 &, TATT AL 7 &

B. 5= Wi @¥wor 9 ey AT 2

C. AT Rt FTHIoT & FIE sar - TATAST &

D. |HY9w FT AqAT aT9Td TraT €

E. y¥qTq ¥ ¥A99 #7 wET T avdt &

1= faw oo fawsTi § § 9 59 F7 997 FHifsg ;

[Question ID = 1177][Question Description = 52_qSNz_PG_GP14_Q17]

1. A, B and C only/%a A, B #iT C [Option ID = 4705)
2. B, C and D only/%i99 B, C =% D [Option 1D = 4706]
3. C, Dand E only/#5< C, D 3% E [Option ID = 4707]
4

13) Given below are two statements
Statement I; One's perceptions and beliefs are the basis of generalisation in communication
Statement |l: Generalisations of the environment develop through experiences.

In light of the above statements, choose the correct answer from the options given below

AT Fgafrgagd :

Y7 - | : =3F * g T groony FHYT § GrHrFATHIU ® AT E

FA7 - |l ; TRE g F Frar=fi5Iw sgaat 3 97637 § FAsfHa 9 §

SYLI® FATL F AATF H, A9 g a7 fF5e9i § € 9gi s 1997 F9w
[Question ID = 1178][Question Description = $2_qSNz_PG_GP14_Q18]

Both Statement | and Statement 1l are true/®97 | &z || =91 T £ [Option 1D = 4709]

Both Statement | and Statement [l are false/T9 | 3T || T %wA £ [Option 1D = 4710]
Statement | is true but Statement Il is false/®97 | 77 2, g F99 || 99 & [Option 1D = 4711]
Statement | is false but Statement Il is true/®¥ | s/&eq &, T Fa9 || w9 & [Option 1D = 4712]

R

Correct Answer :-
& Both Statement | and Statement Il are true/%<+ | 3% |l THT g4 £ [Option ID = 4709]

14) According to Robbins et al, the sequence of barriers to effective communication in an organisation is
A. Language

B. Emotions

C. Selective perception

D. Information load

E. Filtering

Choose the correct answer from the options given below
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TiHfasa ud avq F e At gwsT § vt whww F s agr Qg FTFAE -
A. HqTHT

B. ATYATY

C. F9ATTHST TT997

D. FHAT AT

E. Frezfia

19 fRw g faweat @ o 59T F1 997 Hifvrg

[Question ID = 1179][Question Description = 52_qSNz_PG_GP14_Q19]

. A, E, C, B [Option D = 4715]
; D, B, A [Option D = 4716]

A, B, D, E, C [Option ID = 4713]
B, C, D, A, E [Option ID = 4714]
D, A, E
E,C,D

Carrect Answer ;-
s A B, D, E, C[Option D = 4713]

13) Match List | with List I

List | List Il
Elements of Effective Communication s
Description
A, Common frame of reference |. Communications with people of similar background
B. Congruence Il. Use of understandable language
Ill. Messages of common interest between encoder and
C. Language relevance
decoder
D. Compatible environment 1V, Compatibility between the receiver and the sender
Choose the correct answer from the options given below:
AT -l FF gAY -1l | g Fife
AT - g T -1l
(TaTET HEwor R FeA)  [(FA)
%‘_ﬂ“a T I gHTT gugfi $ S & v FAT
B. 9F9H4r Il, FTGAET ATIT HT NI
———-L I, %7+ A REdas  Avamra s
KEEEl
D. AqET T V. fraTE® otT Y & i §aaar

= AT oy fadedt # ° 92T ST A :
[Question ID = 1180][Question Description = $2_qSNz_PG_GP14_Q20]

1. A-Il,B-IV, C-1, D -ll [Option ID = 4717]
2. A-IV,B-lIl, C-Il, D-l [Option ID = 4718]
3. A-1,B-Il,C-Ill, D-IV [Option ID = 4719]
4. A-ll,B-1l, C-IV, D -l [Option ID = 4720]

Correct Answer ;-
e A-ll,B-IV,C-l,D-ll[Option ID = 4717]

16) What number comes next in this sequence?

6, 4, 2.5, 1.5, 1

T & § YA §=qT F19 {1 Ayt ?
6, 4, 2.5, 1.5, ?
[Question ID = 1181][Question Description = $2_qSNz_PG_GP14_Q21]

1. 1/1 [Option ID = 4721]

2. 0.5/0.5 [Option ID = 4722]
3. -0.5/-0.5 [Option D = 4723]
4, -1/-1 [Option |D = 4724]
Correct Answer :-

& 1/1 [Option ID = 4721]
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17) How tall is a tree that is 6 meters shorter than a wall that is seven times higher than the tree? Your Personal Exams Guide

Fg Iz fraardar e T IT A 6 T HATTT & AT AT & 917 [AT HAT 872

[Question ID = 1182][Question Description = $2_qSNz_PG_GP14_Q22]

1. 7 meters/7 #=% [Option ID = 4725]
2. 2 meters/2 #=¥ [Option ID = 4726]

3. 1.25 meters/1.25 #tzT [Option 1D = 4727]

4, 1 meters/1 HI=< [Option 1D = 4728)]

Correct Answer ;-
e 7 meters/7 2T [Option ID = 4725)

18) If the selling price of ¥ 24 results in a discount of 20% on the list price, what selling price would result in a 30%

discount on list price?

If% T 24 F T4%T g FT qforTH T 77 9T 20% g2 &, 971 5 fawa gog 1 ol g ger e 30 ge g ?
[Question ID = 1183][Question Description = $2_q5Nz_PG_GP14_Q23]

1. 21/21 [Option 1D = 4729]
2. 27/27 [Option ID = 4730]
3. 20/20 [Option 1D = 4731]
4, 18/18 [Option 1D = 4732]

Correct Answer ;-
e 21/21 [Option ID = 4729]

19) Given below are two statements
Statement I: The number 89325324 is divisible by 66.
Statement ll: The set of natural numbers is also called the set of whole numbers.

In light of the above statements, choose the correct answer from the options given below

o A Faafagag g :

FAT - | TEAT 89325324 fAATST & 66 F

FAT - 1| TTHT AT 5 AHFT H1 0 G &I FTaCFT AT Fg<A €

ITLNTE FAFT F AATF A, A 7 a7 Fwedt § & g swc w97 AT
[Question ID = 1184][Question Description = S2_qSNz_PG_GP14_Q24]

1. Both Statement | and Statement || are true/®4 | =< || 21 F= & [Option 1D = 4733]
2. Both Statement | and Statement |l are false/®%+ | 3% || ST 39 § [Option ID = 4734]

3. Statement [ is true but Statement Il is false/T97 | wex & , fmg %99 |l sraew & [Option 1D = 4735]

4. Statement | is false but Statement Il is true/F9 | srver 2, 3y %2 |l Iea & [Option 1D = 4736]

Correct Answer ;-
e Both Statement | and Statement 1l are true/F97 | &t || ST 99 € [Option 1D = 4733]

20) Which of the following statements are correct?

A. If A's speed is more than B's speed, then to travel the same distance, A will take more time than B

B. Two speeds, 1500 m/min and 90 km/hr are equal

C. By walking at a speed of 18 km/hr, the distance covered in 2 minutes and 30 seconds is 750 meters

Choose the correct answer from the options given below

faafafaa saat o g s ;

A gfEATT I BT ATH § AUF &, AT AR TR T 5 # AST B § 9= a7y Fitay
B. g1 =Tol, 1500 #Y./ fiyme ofrT 90 et / o, gATT &

C. 18 Pt / . % 91w & g9 wwd ¢ 2 Prwe 30 e § g9 & Araret g8 750 Wrew

A faT o fraweat F @ 9 9T T 97T fifve
[Question ID = 1185][Question Description = $2_qSNz_PG_GP14_Q25]

1. A and B only/#3= A 3 B [Option ID = 4737]
2. Band C only/#a= B 3T C [Option ID = 4738]
3. Aand C only/#ae A #i< C [Option ID = 4739]
4. Conly/%=e C [Option D = 4740]
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Correct Answer :-
e A and B only/Fa A sitT

B [Option 1D = 4737]

prepp

21) Match List | with

List I

List | List Il

A, If 'A’ is True

I. 'E' is True; 'Q" is True

B. If 'E is True

Il. 'O’ is False; 'E' is Falsg|

C. If 'I' is False |III. A

is False; 'I' is False

D. If 'O is Fa[se|lV. i

is False; 'I' is True

Choose the correct answer from the options given below:

gt -1 F71 gt -1l § gafag AfSo:

gt -1

Y -1l

A, afg AT

I. Ewegd; o qend

B. afy¥'E'acx g

. 'O sraex &; E' wrwea &

c. afyragsad

I, A sgen &; 1 FgeA

D. af¥'0' ymea §

Iv. 'E srweq ;' Aex &

A= oo Frawedt § & 9t g9z gfac .

[Question ID = 1186]]

1. A-IV,B-Il,C-lll,D-
-

3. A
4. A

Correct Answer :-

o A-lY,B-II,C-NI,D-

Question Description = S2_qSNz_PG_GP14_Q26]
| [Option |D = 4741]

A-ll,B-l,C-ll, D-IV [Option D = 4742]
A, B-Il, C -1, D-IV [Option ID = 4743]
1, B-Il, C-lll, D-IV [Option ID = 4744]

| [Option ID = 4741]

22) Match List | with

List Il

List |

List Il

A. Ashrayasiddha

l. Sound is eternal because it is visible

B. Svarupasiddha

Il. All real are momentory; sound is real; sound is momentory

C. Vyapyatvasiddha

lll. All objects are eternal because they are knowable

D. Anupasamhani

|IV. Sky lotus is fragrant because it belongs to the class of lotus

Choose the correct answer from the options given below:

gt -1 Fr gt -1 § gafag Afvo:

gt -1 gt -1

A. arggTiag |1 safw araw & FATPF ag geama g

T g wsfY areafs aftrs &; safy areafys 2; safy aftre
C.
L - . g4t gavdf qrrga € FAife a 778

D. SUEET V. WHTH T U ia & 71 {F A AT I T ALTT §

= faT o faswsat & 4 gt sae gt
[Question ID = 1187][Question Description = S2_qSNz_PG_GP14_Q27]

1. A-I1,B-Il,C-IV,D-

| [Option ID = 4745]

2. A-ll,B-1v¥, C-l,D-lll [Option ID = 4746]
3. A-IV,B-1,C-lIl, D-lll [Option ID = 4747]
4. A-1,B-l,C-Il, D-IV [Option ID = 4748]

Correct Answer ;-

o A-lll,B-I,C-IV, D-I[Option ID = 4745]

23) Mame the fallacy committed in the argument below

"All men who understand women are potentially perfect husbands.

All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women."

I TH R ATy

FTATH 970

"ATEATH ST FART 1A T QIT G €7 F svraed ofw §
Tt 49157 7 ¥ srast ofy wdvw & aret gew ra €
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aa: 9T &F a9 7 Ey Afgarsii Franat S e aa § Your Personal Exams Guide
[Question ID = 1188][Question Description = $2_qSNz_PG_GP14_Q28]

Ilicit major/=as gew [Option |D = 4749]
Undistributed middle/#=ama %Tj [Option 1D = 4750]
Existential fallacy/=Ea=r9<s a=™ [Option ID = 4751]
Exclusive premises/=mada® areTiFT [Option ID = 4752]

o R

Carrect Answer :-
o |[llicit major/rer @vew [Option 1D = 4749]

24) The middle term of the inference is related to the major term neither as a cause nor as an effect but because they are
uniformly related to each other in our experience, is known as

ATATA FTET AT A HaAfg g, TR R ETH T A FA I T, A I AR ATVIA CHF AL G AATA ST § a9 §
TH PEA § ¢

[Question ID = 1189][Question Description = 52_qSNz_PG_GP14_Q29]

Purvavat/qd=4 [Option ID = 4753]
Sheshavat/sre=rd [Option ID = 4754]
Samanyatodrshta/aTHTgdg2 [Option 1D = 4755]
Pakshdharmata/Tere#Har [Option 1D = 4756]

a2 =

Carrect Answer ;-
® Purvavat/g49d [Option ID = 4753]

25) Pick the correct option to represent the given argument
All artists are egoists

Some artists are paupers

Therefore, some paupers are egoists

Choose the correct answer from the options given below

feru o 9% sr e 73 & e adftr gz - adTHFTIATHL

AT FATHFI ATFTL &

RN FTATHIL LT &

qq: {F I Ao &

[Question ID = 1190][Question Description = 52_qSNz_PG_GP14_Q30]

1. All -1 figure/All - | =TT [Option ID = 4757]
2. Al -l figure/All - 1| 3IERTE [Option 1D = 4758]
3. Al - I figure/All - (1] 39RTE [Qption (D = 4759]
4. All - IV figure/All - IV s [Option 1D = 4760]
Caorrect Answer :-

& All -1 figure/all - | FTT [Option 1D = 4757]

26) What is the World Wide Web (www)?

ToF ATIT T (Www) FIT 2 ?

[Question ID = 1191][Question Description = $2_qSNz_PG_GP14_0Q31]
Collection of webpages stored on websites/d=aTsal 9 WTHT @991 #7 50g [Option ID = 4761]
Interconnected networks/TF Zat ¥ & §¢ ¥=7% [Option ID = 4762]

Hypertext processor/ErEa<eses ST [Option ID = 4763)

Web browser/a3 #T3=< [Option ID = 4764]

o kad R

Carrect Answer :-
e Collection of webpages stored on websites/SFATZ2! 9T G=TTHg IATAT &7 H#Ug [Option ID = 4761]

27) What is Ethernet?
TATHE FAT S ?

[Question ID = 1192][Question Description = $2_q5Nz_PG_GP14_Q32]
1. A protocol used by many wired LAN's, /AT3 & 52 %% =91 (LAN) RT ¥4 9ier%i= [Option ID = 4765]
2. A protocol used for address translation/U3H giH=1219 F =17 vg= 2= [Option ID = 4766]
3. A security protocol/ge=T TieiwTe [Option 1D = 4767)
4. A collision-detection protocol/Fifer - 2% TIiEi= [Option ID = 4768]
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Correct Answer ;- _ | ) Your Personal Exams Guide
& A protocol used by many wired LAN's. /aTt & 52 %% 971 (LAN) BT % WTErsta [Option ID = 4765]

28) Match List | with List Il

List | List Il

A. System Software I. Library Management System
B. Application Software [Il. Firewall

C. Security Software |III. Compiler

D. Embedded Software [IV. Automatic fridge

Choose the correct answer from the options given below:

gt -l w7 AT -1l | gARm i :

AT -1 T -l

A. Farezw givzdge 1. ArER Y dAaHz fyeen
B. ifta® o= giveaas Il, sra<ats

C. AT AIFEAAT IIl. $9TTR

D. gfuwfes aiveaaT IV, Ta=Tiora BRw

= fRT vy f3wedt & § adtsacgfvT .
[Question ID = 1193][Question Description = $2_q5Nz_PG_GP14_Q33]

1. A-l,B-, C-I¥, D-ll [Option D = 4769]
2. A-ll,B-IV,C-1,D-ll[Option D = 4770]
3. AL, B-IV,C-l, D-Il[Option D = 4771]
4, A-lll,B -1, C-Il, D-I¥ [Option |D = 4772]
Correct Answer :-

o« A-l,B-ll,C-I¥,D-ll[Option ID = 4769]

29) Given below are two statements
Statement I: DVDs use a single spiral 'track’ to store data working from the centre to the edge.
Statement |l: DVDs are Read-only devices

In light of the above statements, choose the correct answer from the options given below

= srFaa o aw g :

FAT- | ST A sTer T Eufga 79 3 Dusa a7 35 STIRNT AT AIar g T F5 | LR EFCFITHT AT TR §C
FTd HLAT S

F97 - || : % 91 2% Fa - Aty (e - M) Ragw d
ITAF FIAT & avetrw €, AF g 1g fyweat & 4 9t Iwcwr 397 v ;
[Question ID = 1194][Question Description = $2_qSNz_PG_GP14_Q34]

1. Both Statement | and Statement 1l are true/%99 | =% || 141 99 § [Option ID = 4773]

2. Both Statement | and Statement |l are false/®%w | 3ii || =i 3= & [Option ID = 4774]

3. Statement | is true but Statement Il is false/® | wea & , g w919 |l 3raer & [Option 1D = 4775]
4. Statement | is false but Statement Il is true/#9 | w90 2 , Frg 9 || Ter £ [Option ID = 4776]

Correct Answer :-
e Both Statement | and Statement |l are true/F97 | &z || ST 990 € [Option 1D = 4773]

30) Which of the following statements are true?

A. Simplex data transmission is in two-directions only

B. Half-duplex data transmission is in both directions but not at the same time

C. Full-duplex data transmission is in both directions simultaneously

D. Serial data transmission is when data is sent, 8 bit at a time, over a single wire
E. Parallel data transmission is when one bit of data is sent down over a single wire

Choose the correct answer from the options given below:

fagfafga o @ 1 F Fsaaadr € ?

A. e eg ST 990 T 21 fyarat d rar g

B. e - godteq TTET H9TW ErAT frare & frar 2 vr uw fraag 7 adi
C. g9 TR ST 90 TF &1 a7 & a1 fraref & grarg
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D. oftag STZT L0 I EIAT S AT STETFT, TF IILH 8 {2 L3, UFA ITTITAATATIT 2 Your Personal Exams Guide
E. 91T STET AW T EIAT§ 9T UF [4T TTIT H1 THA AT TT /AT ATAT 8

19 faw o fawsai § § 9 59T F7 997 Hifsrg :

[Question ID = 1195][Question Description = 52_qSNz_PG_GP14_Q35]

1. A, Band C only/%a9 A, B #iT C [Option ID = 4777)
2. C, D and E only/#5= C, D 3% E [Option ID = 4778]
3. Cand D only/&== C 3T D [Option ID = 4779]
4. Band C only/#9+ B &< C [Option ID = 4780)

Correct Answer ;-
® A, Band Conly/@9+ A, B &€ C [Option ID = 4777]

31) In agricultural regions, groundwater can have significant concentrations of which pollutant?

U G & oo & FT IgF AT IS ATATET TFATE ?
[Question ID = 1196][Question Description = $2_qSNz_PG_GP14_Q36]

Lead /& [Option ID = 4781]
Cadmium/#sTHaw [Option ID = 4782]
Selenium/#= 3w [Option D = 4783]
Nitrate/sTZ2= [Option ID = 4784]

N PE R o Qe

Correct Answer ;-
e Lead/HHET [Option 1D = 4781]

32) Which of the following types of power plants provide electricity consistently running 24 hrs per day, 7 days a week?

frofafga & & frg vo1T § $af g 24 w2 gfy faw oz 7 fy= wfa gorg 9«0 gu faafag s § fagst wamas@ € 2

[Question ID = 1197][Question Description = $2_qSNz_PG_GP14_Q37]
1. Geothermal/¥ - FTHT [Option 1D = 4785]

2. Solar/HT [Option 1D = 4786]

3. Wind/939 [Option |D = 4787]

Correct Answer :-
¢ Geothermal/¥ - Arftr [Option ID = 4785]

33) Which of the following Green House bases were the target gases whose emission was to be covered under the first
commitment period of the Kyoto protocol?

A. 50;
B. COz
C. NzO
D. NH3
E. CHq4

Choose the correct answer from the options given below:

frwfafaa & @ w17 - o7 dft7 grew #4 3 afyrg # 97 P seasta 7 FA7ET TSH(@ B TI7 MAIFAT F19 B a2 | Q747
HATAT AT ?

A, 50z

B. COz

C. N2O

D. NH;

E. CHy

= fyT o faswsai & € 9t ST FTwTTAAfNT;

[Question ID = 1198][Question Description = $2_q5Nz_PG_GP14_Q38]

1. A, B, C and D only/®9= A, B, C == D [Option ID = 4789]
2. A, B and C only/@=+ A, B &€ C [Option 1D = 4790]

3. B, C, DandE only/#3= B, C, D &< E [Option ID = 4791]

4. B, C and E only/%3% B, C 4T E [Option ID = 4792]
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Correct Answer :- Your Personal Exams Guide
e A, B, Cand D only/&79 A, B, C &< D [Option ID = 4789]

34) In India, according to Niti Ayog's 5DG Index (2019-2020), which is the best performing state on SDG-9 (Industry,
Innovation and Infrastructure)

ATy srara & uw ST & =i+ (2019 - 20) ® STATT ATCT § ¢A ST ST - 9 (S, AITATT T THTEZFAL) T 99 g
fAeqreT F48 a9 U FI9T - q7% ?

[Question ID = 1199][Question Description = $2_q5Nz_PG_GP14_Q39]
1. Kerala/#%= [Option D = 4793]

2. Gujrat/f=aT [Option |D = 4794]

3. Karnataka/#ie® [Option ID = 4795]

4. Telangana/I=ET [Optien 1D = 4796]

Correct Answer :-
e Kerala/3%e [Option 1D = 4793]

35) Identify the correct sequence of wind energy potential at 100 m above ground level in decreasing order
A. Karnataka

B. Andhra Pradesh

C. Gujarat

D. Tamil Nadu

E. Andaman and Nicobar Islands

Choose the correct answer from the options given below

T H 100 #T, FT FATE 9L 77 FAT AFTTH AL TGN FH FT IATH F:¢
A, Fafew

B. AW T34

C. T

D. arfyasrg

E. stzara 7 fasrare fgoaygg

= fyT o faswsai & € 9t ST FT wTTAAfNT;

[Question ID = 1200][Question Description = $2_q5Nz_PG_GP14_Q40]

1. A=B=C=E-D

[Option ID = 4797]
2. D=C=A=B+E

[Option ID = 4798]
3. C=A>B=D=E

[Option 1D = 4799])
4, CE=B-D=A

[Option ID = 4800]
Correct Answer :-
e A=>B=C=E=-D
[Option 1D = 4797]

36) Match List | with List Il

List | List Il

A. Lay down standards of legal education 1. NCTE

B. Maintaining the gquality of technical education Il. AICTE
C. Maintenance of standards in teacher education . NMC
D. Access to quality and affordable medical education |IV. BCI

Choose the correct answer from the options given below:

T -1 7 gHAT -1l | gARE FifHg

AT -1 T -l
A, Tty fargr & qrers suriag F=T . eg At g
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B. aATET Farerr £ Ot 1 T T@AT |; TAHTEY Your Personal Exams Guide
C. farers forerT ® ATAFT FY TATT TEAT . o7 Tw =

D. TurgaTg < T Fea 07 Fafepemt fraras ‘W o} 5fi o€

el
19 feg g fawedt & & gt swi g
[Question ID = 1201][Question Description = $2_q5Nz_PG_GP14_Q41]

1. A-IV,B-Il, C -1, D-lll [Option ID = 4801]
2. A-1,B-Il,C-IV,D-lil [Option ID = 4802]
3. A-ll,B-Ill, C-IV, D -l [Option ID = 4803]
4, A-ll,B-IvV,C-l,D-Il [Option ID = 4804]

Correct Answer ;-
o A-lV,B-ll,C-1,D-ll[Option ID = 4801]

37) University of the ancient period which has been declared by UNESCO as a heritage site is:
A. Mithila

B. Vallabhi

C. Pushpagiri

D. Takshashila

E. Nalanda

Choose the correct answer from the options given below:

qraA &1 # 3 Frafraag fBieg s 3 gagreaa gifya fear g .
A, fafyay

B, TFAHY

C. geufardt

D. aerfarar

E, ATHET

= fyT o fassai & € g€t ST FT wIT AifNw;

[Question ID = 1202][Question Description = $2_qSNz_PG_GP14_Q42]

A and B enly/%@+ A = B [Option ID = 4805]

B and C only/#a= B 3T C [Option ID = 4806]
C and D enly/s e C i€ D [Option 1D = 4807]
D and E only/#a D @i E [Option ID = 4808]

HE N FURN S R

Carrect Answer :-
e A and B only/F9% A &7 B [Option 1D = 4805]

38) The first education commission in Independant India is:
T T AL ® UgAr frarswarw @ -

[Question ID = 1203][Question Description = $2_qSNz_PG_GP14_Q43]
1. Secondary Education Commission/TTerTa= f&rer AT [Option D = 4809]

2. The Education Commission /T3mT s [Option 1D = 4810]

3. University Education Commission/Terfer=msra farar st [Option 1D = 4811]

4. National Knowledge Commission /T8 T4 sT4RT [Option 1D = 4812]

Correct Answer :-
» Secondary Education Commission/®reafae fars smaist [Option D = 4809]

39) Gender Parity Index in higher education in India is:

1A R 37 faar § v gaaraar gawis g

[Question ID = 1204][Question Description = 52_qSNz_PG_GP14_Q44]
1. 1/1 [Option ID = 4813]

2. 1.1/1.1 [Option ID = 4814]

3. 0.99/0.99 [Option ID = 4815]

4, 0.98/0.98 [Option ID = 4816]

Correct Answer ;-
o 1/1 [Option ID = 4813)
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40) Which of the following are Central Universities? Your Personal Exams Guide
A. Dr. Babasaheb Ambedkar Open University

B. Jamia Millia Islamia

C. Panjab University

D. Punjabi University

E. University of Mumbai

Choose the correct answer from the options given below:

frafafaa & & Ffra faaframgsv-a €2

A, BT, TITTHTET ArATH qF Frafaaray

B. strfaaT frfeaar gearfhar

C. grra Ferafaarrarg

D. garst ferafaray

E. ga% ferafaarag

= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 1205][Question Description = $2_qSNz_PG_GP14_Q45]

A and B enly/F@+ A = B [Option ID = 4817]

B and C only/#a= B 3T C [Option ID = 4818]
C and E only/#a= C #i< E [Option ID = 4819]
C and D only/F37 C &t D [Option 1D = 4820]

N PP 0 Y

Correct Answer :-
e A and B only/F99 A 3T B [Option 1D = 4817]

Topic:- GP_24NOV_C

1) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12,2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and compesition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure, There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TETr FT T8 AT 79T IFCF

T 727} 1Y ¥ 917w F graris gran srdww g auraed 5 v fead aFff ofs gasr aoar o S sfyga g,
A1LT § TATIF AT I AAS H FT FTH ATHE FHAAT F AT §TF I979 57 57T IZAT 8 ATATIRNF d7 9wt =g +°7
u# wHT a9 § rad 70§ 59 519 3 g geadty, careey, firarn, 99w, G941 K197 KT GATT weATU FfEAfora g I
gfg=ier fraT et 7 et =7 H o Asga a2 @ aga 9 544 3 Mo oot g € a8 &= owfa fswren & fras ==
areafas =07 # igaes od gom shral a $1 gy gt € g9 AT aow sawie g o gud g frdww
AT FTAASITAT 3 VFAZI™F 37 | 1oy geadaare A srAT=wAT FIQ @A A9 AIAFIT GEAIEATAF Ty § 79 v qferw
FAada s fRar e T/ o0 FTLT A9 | T2 I T F TATETIETE - 39 §T 51 garA & Frg 7 afes a2 wqw

TZHT ®T QUAATFATHA FLA 5 a5 & STA 39 1991 F grarfrs &7 7rsr7 & a1 747 91 o€ § Fradt wexrfarg o gaair
feravafia =iy & 9799 A7 ST FTILU AT AHT AT ITITT FTAGT a1 JI2T (BTAT &, TTAT HI2T 0% TOH Fdt LarEwa =
71 : 2.4 wiawa safs wafarar & g 6.5 wivad 2, argearar § 12,2 giaad HFT =T a7 # 15 - 25 wfoaq g=fram=as
FTILHTH £ TFC D AT F - =747 Fraaard, sv7 & w0 & 702 - Oy arafyrs ggfust e segra $ graes o
ferfare daverat st gi=t &1 g7 - Ay FATATT F1 =7179% A<y gar & st {1 wrodt@ Trsat | grariyw =7 w5 gRrive @
% fm oo g mw F gfg 7 § atarvaay g afvarda: gar srgafas arga & Y, F497 - F9 g8 sarat § SIUgTw AT g,
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HHTU % FT A g AAT 8T TeaATAT ST FATH FEATH FT FTACT T 4F1 1 AT AT

Social security programmes in India encounter the issue of

AT § ATATINF CIHAT FTAFA (67 GHEAT FTATHAT XA & ?

[Question ID = 1206][Question Description = $2_q5Nz_PG_GP14_Q46]
1. Direct implementation/¥=a& FTaivaa [Option ID = 4821]

2. Indirect implementation/9<er wrat-a4+ [Option ID = 4822]

3. Increased government intervention/®ET T A8 g™ [Option 1D = 4823]

4. Structural rearrangement/I=TTT TTedawdT [Option 1D = 4824]

Correct Answer ;-
e Direct implementation/¥sas Fraf-=a= [Option ID = 4821]

2) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12,2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure, There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TEFr FT I8 AT 79T IFCE

T 727 & A1AqE ¥ 9w F grarivs gran srdww g aurared v tead aFff of¥s gasr goar o dar sfyga g,
AILT | ATATCHNF AT UL AT H 1 A 9191 T2t fa gt § o 7§ wa479 157 s1@aq @ar g aarfss arawdgg 51
uF yqw a9 ¢ rad vit vy 513 & o geada, waveey, forar, 9w, 9T FFTAAT ST 9T FIATU 7iRAfra E AIER
gigwia Framm frdt 7 frdt =7 H safRmgaas gz 9 o7 = @ st g § 78 @7 sty fasrea & fras =9
Freafas =47 # gfgus vd g it ar 1 gfrar wra £t & gasr aadifas gow saarc € o gad asdid fadgs
AT KT ArAITAT 2 VAT TT /R 1oy gead a1 A SrATHAT FIQ @A A9 AIAFIT GEAiEATHF Ay § 79 v qferw
Fada xR W EATFTHAT AL A TP AT I A TITEILBTE - SH AT 51 a4 & e =gy afos o3 wyw

TZHFT FT ITITHATAFLA F 99 & ©TH 3§ 1991 § grArfors g7 wv o7 § s7dt w9t 97 ard ¢ Brast wearfog 9 gadit
feararaita =iy & 9Tae(z 97 IR T AT AHT A IS FTAGT 1 H1eT (R4AT &, TTAT HI2T O T97 T SIATHFT 7
2T : 2.4 viaaa wafE gafar & 97 6.5 wfvaa &, Sigeamar# 12.2 gfaqaq s afdist 3ot « 15 - 25 wfaaa a=framifys
ALY H £ IFCH AT E - =74 Froqard, sr7 & w70 § 702 - Oy arafrs ggfust S segra $ graes d
farfere et T 7=t w1 4T - iy F077 51 539797 frvg gar @ s g3 arcdiy Tsat 8 gt =g s g @y
# e aud 1 mw F 9fg it g atwrgay she gfvarda: tar argarf®s arga g 9, w47 - F97 g9 =74 § Srgw A9 gy,
qTaTRI* =g ® wtiaat ® 9y vhoomt 1 afersgaroft s30T 2 amg a7 77 QUK 57 GHTT FeATT G ATEa(SH TH1T B
THTN % €7 # Trg A AT T2 T AT ZVAT FATH F2I70 FT (T 7 057 1 frofafeyr Frsrar g

The government spending on poverty reduction programmes suffers from

TOE FH FIRA D FTAHAT T ACHT A I FAFTAATT ISAT R ?

[Question ID = 1207][Question Description = $2_qS5Nz_PG_GP14_Q47]

1. High demand from prospective beneficiaries/aTat ATATAT g7 a78= AT [Option 1D = 4825]

2. Too many divisible allocations/aga 9% Fr+Tsa sma== [Option ID = 4826]

3. Down-sized expenditure in real terms/areata% @5 # %9 &= 797 =2 [Option ID = 4827]

4. Several social welfare programmes competing for funds /=TT & 8T %% T8 Feaer wrawa1 & 19 Sidaeqa] 2T [Option 1D = 4828)

Correct Answer :-
e High demand from prospective beneficiaries/aT=t srrenf&=t zrer = =i [Option 1D = 4825]

3) Read the given passage and answer the following questions.
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of their own, Social expenditure in India is nevertheless particularly vulnerable to budget cuts, The social sector is a major

spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance

and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12,2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure, But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

T HT 92 SATAATH STCE

TH 5T B TSR (% A1IT | ATATINF GTAT FT4 TF T ATTA AATIITT FT TTATHATE TZT TIH ITHT 09T TF F AT hAgT4 &,
A1 & FrATHIF AT LIS | 1 A4 11 FfaqT & e 0 & gqra 724 *1@ar gar g ararfors ax qawmd g =7
uF yue a9 ¢ ad vist vy 513 * Bru geada, waveey, forar, Tigw, 9IS FFTAAT ST 9ATT FIATw 7RO E FIER
Ffgwie A et 7 fedl s H s Asga a3 3 g a9 1 # g saxerdt g € a8 @ ofy fawrsy & s =799
greafas sy ® gz oF gea: It ard 1 gfyr ore @idt 2 gasr aadifas gzw susi 2 stgad gt Rradgw
A HTAIFATAT & UTAgTiRs 37 € U9 gea@ TaTE $1 AATTAT F1a TFA AT ATGHT O FATFATTHS a9 & T9 3T Ao
fadaw<faarg A FATFTAT AT A TP AT FITHA TIITETIGTE - TH G AT qa7e & Ty = df afew 708 wqw

TEHRT HT THAATHATA FLA H % ® TTH a7 1991 F AT S 93 =7 7 It ®/1 757 awg & BrasAt yoariog ot a6t
fararefig =i 3 9199 IT 992 SV IE OFF AT SIS FTIZT 21 S127 F%qT 8, TTAT H12T I SO T2t SATHAT A
g1 : 2.4 wiyay safe aqfrar & 9g 6.5 afvaw 2, Mzearar & 12.2 wivgg s fgdtt 2at § 15 - 25 gfvay gafy amarfs
A TCATH FE TFRX D AW E - savAT7 RowaTd, =7 $ w@<d ® 7@ - et amfys iyt dessamor R grass @
farfare gareraT ST 2i=T &1 197 - Ty FT77T 51 5079% 43y gar & shT g5 arcdiz Trsat 4 aramtss s7g 57 geférg @y
% g oA sy o F gfg v & atsrraay @ afaardT: Qur srgarfas arga € 0, w4 - w9 gER T @ S9rgIw /9 gy,
HTHTRE =7 § F2TaaT & §9rfda vhonmst 1 afesgamft $3aT1 8 T0q 978 ¢ UK ST AT FeI1T G ATEAEF A9 3
gAT # €7 F 378 77 72T sregrsy it awrs searw H1 w©vigew £ goywt # Hafafr groaar

The expert evaluation reports are used to

fersta=t #7 gegiwT feavet &1 w3707 frarsrar g -

[Question ID = 1208][Question Description = $2_q5Nz_PG_GP14_Q48]

Reform the social welfare sector/TTTe Fo4TT &F FI AT F = [Option 1D = 4829]

Support the government spending on social sector/aTHT= &5 I THT S AT+ TEHIT =09 &7 g87 F77 & form [Option 1D = 4830]
Strengthen the political constituency of social security/aTHTE GTET & Taid [Td% H2 i FAadl G Fed & =7 [Option ID = 4831]
Justify banishing the social security system/ATHT® AT STFEIT & FHTH Fid il IM0a 3844 ¥ =10 [Option [D = 4832]

a2 =

Correct Answer :-
» Reform the social welfare sector /98T HwaT9T @5 BT i+ % fq [Option ID = 4829]

4) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare, Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure, But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.
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TATTHTIE ATAATH 3¢ E ¢

TH TET B qTa9E (9 AT & A0S g srdw ararrag aararay 1 viateare 7 a3 s gasr sEr s dar gfaga g,
A1LT ® Ararfors =17 07 992 § 31 917 q1ef Feifaa’ € e 0§ 9919 027 *r@ar w@ars s a7 gverd sy 5 v
uF yqE &9 ¢ Brad vhdt w9 737 ¢ Ry gegdw, ey, far, 9raw, g/ 9ETHaT S 997 wearw wiEwfra g g s
afarsia v a7 fFaT S0 H e fRsga v agg o« o & fog st g € a8 = afa fywrsy & Rras =94
Freafas =a ® gfgowe ua g9 w0t ard 1 ghegr orw i 2 gasr aadifrs gz saarc 2 st gad g Rrdws
AT HTIIAGTAT & CFOgiias 30 & TUsg gragaaTe 1 AATIAT FLd WA AT ATTFIO o1 FATcAT a7 § 76 A a1fors
fada sz frare 18 o FTLFT A99T 4 222 S FNF TNT T @I - 77 AT 57 gared & Bro adff afes g9 vqw

TEHT HT AT HATA T F D 2 ©TA T8 1991 F 1A F 47 7T o7 & ST FHY 27 s § oot wenrferg oF gai
fararfig sqrfl F ITa9% ITITH FIL0 AE THT T I FTAET 21 Fr27 fgear &, gaar et 5 199 s sarEwa A
g : 2.4 vfvag wafr aafirar & 95 6.5 wives 2, Srgearar & 12.2 gfveg s =i 2t § 15 - 25 wivas a=fy grarfas
AT TCHATH FLIAFED TR - T FFoward, =7 & a0 7 7@ - faOd amtyrs gt dcssamm S grazs
fafare garsat sie gist 197 - 3arfy FATA0 F1 5007 Oy gar 2 e g7 areaty osAl ® ararihe sy w9 g @y
% e o s mw A gfl 1 & atarigay @ gt ear argatis arga € =, F497 - F90 @2 et § 9708w A4 e,
ATHTR® 577 § Ferfagi & g 9rfya oot &1 afasgarof FTa1 € T0q T TC U ST HHATT FIATT gL ATeqfTaH I %
THTY % 7 X T78 A AT TET Fea AT 23T AATH FEATH T NGO 7 g5t 31 fAafafyr AT g

The social sector in India is experiencing

A1LT ® Frarfors & Prasr aqaa sTIErs ?

[Question ID = 1209][Question Description = $2_qSNz_PG_GP14_Q49]
1. A vast amount of speculative literature/SraTi== FTT FT T=T WX [Option ID = 4833]
2. Upward revision of budget allocations in a few specific areas/#= Mg &=t § S=(Z17 s=ZAT FT F2=T ST [Option 1D = 4834])
3. Increased current debt account by certain states to protect their social security measures/®3 T=a( T {7+ ATHTO FLAT IUTAT H7 YT Ta & =0
TET g4 975 =W @17 [Option (D = 4835]
4, Change in composition and patterns of social welfare/aHTal FFTT § @91=7 31 291 H Teaaq [QOption 1D = 4836]

Correct Answer :-
» A vast amount of speculative literature /ST AT =573 FT 42T 9217 [Option 1D = 4833]

5) Read the given passage and answer the following questions,

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure, There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure, But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

AT FRTIE ST asi & I

TH TET 7 ATA9 % £ AT & Frahrs gran sy gr=rag aararay #1 wiateard 7 afes st aear s dar gfoga g,
A1LT ® Ararfors 17 07 992 § &1 F17 q7e1 F2ifaa’ 8 e 08 9979 057 *FrEar w@ars arares a7 gvwErd sy s
TF THE 8 ¢ Frad vhdt 77 7T 3 fore geady, sreey, forar, 9w, g/7 wgrIaT A AT weqrr iAo § awed
afrwia rarr Rt 7 frar o d go fasgare @ agg o 7@ @ g st it € a5 a7 ofy fAwrey & Sras s=39
Freafas =a ® gfgees ua gom: s0at a3 1 ghegr orw it 2 gasr aadifrs gz saarc 2 st gad g aws
AT KT FIAGTAT § WFAZITAT 30 § To7 geagdqarg AT AATIAT Fd WA AT ATAFIT LeqiFATeqF A9 § 78/ e arfoys
fada s frar e 18 T FT LT AT 4 222 S ETF TNT T @I - 1T AT 57 gaOred & Bro vt afes ga@ wqw

TEHT HT AT HATA T a9 ® ©TA 39 1991 F ATATRS st 9T o7 & ST FHY 9271 o § oot wenferg oF gai
fararsfty sy ® 91992 I1 99 F1I0 I TFF UHT I F1 95T T Frer fYear g, gaarArer O gad s seardwa |
g : 2.4 wivwg wafr A farar & 95 6.5 wives 2, Srgearar & 12.2 giveg s A< 2t § 15 - 25 wiogs a=fy grarfas
FAICATH FEIFLP AT € - =TT fwaard, =77 & wad # v - Ot arafys vafugt dcweamo g grazs &
fafare daverat st gi =t &1 g7 - 97y FATATT F7 =71079% o< gar & st q® wrodt@ Trsat | grarias =7 7 grivg @
% e o s mw F gfly 1 & avarigay @ gt ear argamfs arga € s, F497 - F90 L e qrat § I8 A9 g9,
grathys s o wfagi & F9rfya ofcurat ot afysgareft #3972 g AT AT AT KT FATT FIATT I JIea{4F w919 F
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The gist of the passage is that
g A FT AT S

[Question ID = 1210][Question Description = $2_qSNz_PG_GP14_Q50]

1. The social security system in India should be strengthened/ T3 T ATATTSE FET =247 FT TAFAT T FAT AT [Option ID = 4837)

2. The social welfare system must be abandoned /AT FaT SYF+T HATH FL 347 ATRE [Option ID = 4838]

3. In actuality, diversification funds to areas other than social welfare are justifiable /areaa # TRt 7 qum Fegqmw ¥ 307 o= # Biediwor A g
[Option ID = 4839]

4. There is no evidence as to the utility of social welfare measures in India/qTed & THT Fed 10 & IATAT T JTATRIGT H HE FH 761 £ [Option 1D =
4840]

Correct Answer :-
» The social security system in India should be strengthened/ < ¥ |THTSE FEEAT AT &1 TIFAT FaTT FeAT 9120 [Option 1D = 4837]

Topic:- Economics_SHAAN_NOV21A

1) In case of indifference curve of two goods X and Y, as consumption of X increases:

X #TY =7 awgaA @ gAiyAaw aF F1 A A, X FTIOATIEA F qIT

[Question ID = 2481][Question Description = 53_qSNz_PG_ECO_Q01]
1. MRSyy

increases/MRSxy FZaT &

[Option ID = 9921]
2. MRSyy

decreases/MRSxy T=aT &

[Opticn ID = 9922]
3. MRSy
remains the same/MRSxy TF T0TT a1 &
[Option ID = 9923]
First I%'R,SXY increases but later on MRSy decreases/T8¢] MRSy dedl g O] dlg g MRSxy
Hedl

[Option ID = 9924]
Correct Answer ;-
* MRSy

increases/MRSxy 24T 2

[Option ID = 9921]

2) General Economic Equilibrium is NOT related to which one of the following problems?

HIATT A9+ dqgaw faafafaa & € fra awsard g adig

[Question ID = 2482][Question Description = $3_qSNz_PG_EC0_Q02]
1. Unigqueness problem/Ts=ar FAHT [Option 1D = 9925]

2. Existence problem/sfEq=r a9aar [Option ID = 9926]

3. Stability problem/fes<ar a&=aT [Option D = 9927]

4. Moral Hazard problem/aTd= &7 & @a<ar% a8 [Option 1D = 9928]

Correct Answer :-
# Unigqueness problem/Ts&Ar 977 [Option 1D = 9925]

3) In the short-run production function, which one of the following is CORRECT?

yertfy SoqTes wow &, et d a saradre ?

[Question ID = 2483][Question Description = $3_qSNz_PG_ECO_Q03]
1. Technology is assumed to change as labour input changes/#warTa & gfad # wry atefeft viads Ft seamr &t st £ [Option ID = 9929]
2. Technology is assumed to change as capital stock changes/tsft wi% ¥ wftads ® arr wranfFey aftads F oo F st § [Option 1D = 9930)
3, Technology is assumed to change positively until diminishing returns set in/gTATT FTAATT AR 219 TF GO B FHRRCHH A0 61 Fed= 1T ®Hi
AT 2 [Option 1D = 9931]
4, Technology is assumed to be constant for a given production function relationship/Taw FeITEF T4 99 % Forg wr=nfrs #9< gra $71 Fora7 F1 9w g
[Option ID = 9932]
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e Technology is assumed to change as labour input changes/awarTa ¥ wiimd % wry st=nfieft ofmd Fr Feamr F J1eft £ [Option ID = 9929

4) As output expands, LAC curve falls. This is due to:
g R R Oy, AT ST 97 H roaz ardt 2 TaFTHIIU e

[Question ID = 2484][Question Description = 53_qSNz_PG_ECO_Q04]
1. Law of variable proportions/7fedl s Fem

[Option ID = 9933]
2. Law of diminishing returns/gTaATH 9w Haq

[Option ID = 9934]
3. Economies of scale/9RATT q&® GATT (THIAIHTT AT =hel)

[Option ID = 9935]
4. Diseconomies of scale/TR¥T H=ia gIfa (RH-gaEiTH Aw )

[Option ID = 9936]
Correct Answer -
e Law of variable propartions/Tiadt srare Fream
[Option ID = 9933]

%) In a situation of decision under uncertainty, if a consumer faces equal expected income from two alternatives, then s/he
will take decision on the basis of

gfafaraar & stasfa favfa a3 1 frafa &, af% sStdwr #7121 RArwedt & o aara T 7 vegrar it &, arag wufafaad &
o srgTT 97 FMofg w3 ?

[Question ID = 2485][Question Description = $3_qSNz_PG_ECO_Q05]

Expected utility of both the alternatives/aT F=eT £ wearfera swaifaT [Option 1D = 9937]

Probability of risk attached with each alternative/T== ey % o gag F1iEm £t gyriRET [Option 1D = 9938]
Yariation of risk attached with each alternative/7e fa=eT # amy g9z F&T B=7w [Option ID = 9939]

Mean of risk of each alternative/T% o= % T F7 7T [Option ID = 9940]

bl D

Correct Answer :-

e Expected utility of both the alternatives/MT [T ST weaTieTd I99THEMET [Option ID = 9937)

6) What type of relationship the Phillips curve postulates between the rate of unemployment and the rate of increase of
money wages?

frforem g% & A7 SO g wifew wagd § giftg evd v e uwresrdaig g ?

[Question ID = 2486][Question Description = $3_qgqSNz_PG_ECO_Q06]
Inverse/9To=ra [Option 1D = 9941]

Direct/970e [Option 1D = 9942)

Direct and proportional/¥e0% T FHTIIUTET [Option 1D = 9943]

Inverse and proportional/ Y= & FHIET [Option 1D = 9944]

b B

Carrect Answer ;-
» Inverse/¥fa=H [Option 1D = 9941]

7) The concept of ‘'money illusion’ was first given by whom?

‘T g7 $1 dFerar as g9 s S o1 ?

[Question ID = 2487][Question Description = $3_qSNz_PG_ECO_Q07]
1. Milton Friedman/ A== $isfv [Option ID = 9945]

2. Irving Fisher/Zi+ fier [Option 1D = 9946]

3. Robertson/TraEa [Option ID = 9947]

4. J. M. Keynes/3.7a. £i=7 [Opticn ID = 9948]

Correct Answer ;-
e Milton Friedman/ =" =89 [Option ID = $945)

8) Which one of the following correctly describes the concept of 'Super Multiplier'?

frafafaa « & afapus T FFeqa1 FTTET TOHT FITFLATE 7

[Question ID = 2488][Question Description = $3_qSNz_PG_ECO_Q08]
| 1. Investment multiplier/f==er o= [Option ID = 9949]
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3. Interaction between multiplier and accelerator/I[UF o @< % == a7« f4T1 [Option 1D = 9951]

[=50+0.2Y
$=-150+04Y
G =50
Where | = Investment , S = Savings
G = Government Expenditure
Y = National Income

What is the equilibrium level of national income?

Had:
1=50+0.2Y

S = —150 + 0.4 Y
G =50

oIl :

I =fa%r:s =594
G = ORI TG

Y = P4 3™
0P 31 BT o TR AR 7

[Question ID = 2489][Question Description = S3_qSNz_PG_ECO_Q09]
1. 2500/2500 [Option ID = 9953]

2. 1250/1250 [Option 1D = 9954]

3. 250/250 [Qption ID = 9955]

4. 1500/1500 [OQpticn 1D = 9954]

Correct Answer :-
& 2500/2500 [Option 1D = 9953]

10) The independence of real variables from changes in money supply and nominal variables is called :

q&T srgfd o< arfas 930 # afcadw & qreafas 990t saaaar o1 faafatas § 4 sarsgramarg ?
[Question ID = 2490][Question Description = $3_qSNz_PG_EC0_Q10]

Keynesian dichotomy/®ivaardt fZ=m= [Option ID = 9957]
Classical dichotomy/FriErfta fFarsr [Option ID = 9958]
Money illusion/wif2F ¥ [Option ID = 9959]

Money multiplier /¥tfe= o [Option ID = 9960]

N VE L Ly

Correct Answer :-

e Keynesian dichotomy/F =4 fgama= [Option ID = 9957]

11) Assuming the probability of a male birth as 0.5, find the chances that a family of 3 children will have two boys and one
girl

TET T T GITSAAT FT 0.5 ATT FL, TH EATTAT FT 797 AT 3% 3 79T 18 ofqre & € avas 7 uw arfrwr

[Question ID = 2491][Question Description = $3_qgqSNz_PG_ECO_Q11]

e 51

o 0
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o

[Option ID = 9961]
22
88

[Option ID = 9962]
;. 33
88

[Option ID = 9963]
4 43

88

[Option ID = 9964]

Carrect Answer ;-

.11
8 8

[Option ID = 9961]

12) Which one of the following measures of central tendency will be the most appropriate to use if the data relates to
rates, proportions and ratios?

Ty g g, FUrAYIT 7 9T § 57 € a1 Sefiw wgf™ F w17 § grow w7 w0 wear gaffos sogss e ?

[Question ID = 2492][Question Description = $3_qSNz_PG_ECO_0Q12]
1. Arithmetic Mean/FTTTg TTeT [Option ID = 9965]
2. Median/TTiET=T [Option 1D = 9966]

3. Harmonic Mean/Z9-A% |10 [Option ID = 9967]

4. Geometric Mean/SATIHd T ATET [Option ID = 9968]

Correct Answer :-
& Arithmetic Mean /s TTure= 7720 [Option ID = 9965]

13) The sampling distribution of mean based on a sample of 13 units selected without replacement shows a variance of 5
units. If the population consists of 49 units, estimate the variance of the population

wiarearas # o =ty 13 To13at # us &% v enariog vfasra= fraso +1 91e9 5 Treat <1 fe=cw gafar g afy
FATH AT | 49 TH1ZAT &, 97 Iaa =47 & f4ths w7 svwq7 A™Q -

[Question ID = 2493][Question Description = $3_qSNz_PG_ECO_Q13]

1. 80.67/80.67 [Option 1D = 9969]
2. 84.87/84.87 [Option ID = 9970]
3. 86.67/86.67 [Option ID = 9971]
4. 86.87/86.87 [Option ID = 9972]

Correct Answer :-
o 80.67/80.67 [Option ID = 9969]

14) In the classical linear regression model, X; and U;are assumed to be:

FATF T IH T GAIHAT FIZT A X AT R TR T FoqarFr Arar g fae o ¢
[Question ID = 2494][Question Description = $3_qSNz_PG_ECO_Q14]

1. highly correlated/srfaT sga=z & [Option 1D = 9973]

2. not correlated/Tgd=g 21 & [Option 1D = 9974]

3. positively correlated/@Fs 57  AgH4& 2 [Option D = 9975]
4. negatively correlated/T®TH w9 ¥ AgH 94 3 [Option ID = 9976]

Carrect Answer ;-
» highly correlated/s=até= agaaa 2 [Option D = 9973]

15) Identify which one of the following statements is INCORRECT?

frwfafys & @ o9 597 1 gg=17 AN

[Question ID = 2495][Question Description = $3_qSNz_PG_ECO_Q15]
1. Intersection of two disjoint sets is a null set/at #EYT TYFFT FT THTTEA T4 TIFT ¢ [Option ID = 9977]
2. Complement of a Universal set is a null set/awdtT Ty #71 72% 3% 9937 £ [Option 1D = 9978)

3. EanY=tp.thenK*Ya&}f/qﬁ'XﬂY = (‘brEﬁ X-Y#X

[Option ID = 9979])
4 X-Y=XnY/X-Y=XnY
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Carrect Answer ;-

® Intersection of two disjoint sets is a null set /3T s THFET FT TH[UTEA 46 9997 & [Option 1D = 9977]

16) Given y = X3 - 12X2 + 36X + 8. identify which one of the following is CORRECT:

o Y = X3 — 12X2+ 36X + 8

[Question ID = 2496][Question Description = 53_qSNz_PG_ECO_Q16]
1. v is maximum at x = g, and minimum at x =2/ =6 U Y &W%Sﬁ? X = ZERY?EHII%

[Option ID = 9981]
Z. yis minimum at X = 6, and maximum at X = 2/X = 6 Q?Y?f-l?fq% IR x= 2 WY AHaH g

[Option ID = 9982]

3. y has two inflexion points at x = 2 andx=6/Y P x=2 Gﬁ?x:aﬂ?ﬁ?ﬁiﬁﬁﬁ?ﬁﬁg%

[Option ID = 9983]

4. Point of optimality is indeterminate/g=a+t &g #fv=a & [Option 1D = 9984]

Correct Answer -

* yis maximum at X = 6, and minimum at X = 2/% = ¢ TR Y HAGTH B 3R x =2 U?Y?E?Iq%
[Option ID = 9981]

17) ldentify which one of the following statements is CORRECT:

frafufaa & € adl w97 1 /g fifvg .

[Question ID = 2497][Question Description = 53_qSNz_PG_ECO_Q17]

1. Alis equal to Adj (A) if the value of the determinant A is unity/A™1 Adj (A) % a9T 2 I Fei<F A 7 47 usriatd () g [Option 1D = 9985]

2. If two columns of a determinant are interchanged, the sign of the determinant does not alter/@fe us Futw & =t Fiadl &1 g ghafdy w¢ fEar
w14 &, Feies w7 g 74 a=aar  [Option 1D = 9986]

3. The value of a determinant changes if the rows and columns are interchanged/ai% 9i=rat 3t et Ht et vhaET ¢ By smar g 9 Fales #19e
TS AT £ [Option ID = 9987)

4. Law of division is allowed in matrix operations/#fz= s=mer # framary % e Fir argef® & [Option 1D = 9988]

Correct Answer ;-

e Ais equal to Adj (A) if the value of the determinant A is unity/A™ Adj (A) # Tame & afe Fatws A %7 327 oerfeafa (7)) & [Option 1D = 9985]

18)
Identify which of the following statements with respect to Linear Programming Problem (LPP) is CORRECT:

s sraraT aaegT (ga €1 ) # g & faafafaa & @ 9d sa7 1 ogam AT .

[Question ID = 2498][Question Description = $3_qSNz_PG_EC0_Q18]

1. A solution is unbounded in an LPP if all the feasible solutions of the problem fall within the boundary created by its constraints/afs TU=T &% T0+w
TTE FHTLTA THET AT g a4 % 99 o €, 97 uar ft ff & awram smag £ [Option 1D = 9989]

2. If Ais a primal problem and B is its dual, then dual of B is not A/FT8 A UF afe a9 § ST B zaR1 g9 ¢, AT B ST 2T ALl & [Option 1D = 9990]

3. The constraints of an LPP in standard form is always expressed in less than and equal to form/AT#=% &7 § U= 97 07 &t STEAT70 ZHIT 7 A</ o9ar
AT & =7 # AT9sa gat ¢ [Option ID = 9991]

4. If an LPP has two optimum solutions, then it has also infinite number of optimum solutions/af& fEmlt war & ¥t & o7 g=a wATa & a7 39 A= T
# gEad gaE At § [Option 1D = 9992)

Correct Answer :-

e 4 solution is unbounded in an LPP if all the feasible solutions of the problem fall within the boundary created by its constraints /=t e # aasg
TTET TATET THhT ATeTanat gra 2 diavadt & oftew ava &, 9 wa § o & gomaey serag & [Option 1D = 9989)

19) The Net Barter terms of trade refer to:

T # T 47 ¢ fAfag sragardi £ -
[Question ID = 2499][Question Description = 53_qSNz_PG_ECO_Q19]

The excess of import expenditures over export earnings/fHTTa FUTSHT W @raTa =741 F7 @rfd=r [Option 1D = 9993]

Trade agreements/=TITT ATHTT [Option 1D = 99%4]

The ratio between export prices and import prices/fata Hraai T sraTa Faat F Fi= F7 A0 [Option D = 9995]

The terms and conditions on which a country is offered a loan in the event of balance of payments difficulties/Fdee siT ord fora 92 TF o0 7 A
AT 0 Hargai St [afd § = 39 %7 76119 HAr mar g [Option ID = 9996]

R
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e The excess of import expenditures over export earnings/ =TT IYTSAT 9¢ 4979 =791 F1 anfarT= [Option 1D = 9993]

20) The items on the capital account of Balance of Payments are:

AT FTAT R T GTd FT AT § ¢

[Question ID = 2500][Question Description = $3_qSNz_PG_EC0_Q20]
1. Flow variables/%aTg =< [Option D = 9997]

2. Stock variables/=i% 9% [Option 1D = 9998]

3. Changes in stock magnitudes/®2i® TRATT § a5 [Option 1D = 9999]

4

21) A sudden shift from import tariffs to free trade may induce short-term unemployment in:

AT TLEH § T AT HT AT HATTF ST ALFITAF SOASATL FY Fraw A dca sz awarg
[Question ID = 2501][Question Description = $3_qSNz_PG_EC0_Q21]

1. Import competing industries/=raTa-Tia=T=l T2 [Option ID = 10001]

2. Industries that are only exporters/3T ST # ST a7 fratas € [Option ID = 10002]

3. Industries that sell domestically as well as export/37 I & S svafvs W &7 avgy w7 = faws w2 € [Option 1D = 10003]
4. Industries that neither import or export/TT 2T & ST T AT &wawa =i 7 £ fFrata w=a € [Option 1D = 10004]

Correct Answer ;-
e |mport competing industries/sTaTd-wlaerei 3T [Option ID = 10001)]

22) The optimum tariff means:
TEAH WL+ FTHIAA E -

[Question ID = 2502][Question Description = $3_qSNz_PG_EC0_Q22]
1. Must occur in the elastic range of the tariff imposing home country's offer curve/T9( =T =Tel == F97 F TEATH 9% AT FAF41% HHT & A & T 8

[Option ID = 10005]
2. Takes account of the probability that the partner country will retaliate with protective measures of its own/ HT{[\EF@F FTEAT 24T T THT0AT FT 477

TEATT o ATeTT 397 a9 a9 § S ATOHT % 919 TiaEE w4 [Option 1D = 10008]
3. Maximises total export sales of the imposing country/® T Fe a1 297 & F99 Fata fEfwat &7 srfiwids Fwar & [Option ID = 10007]
4. Must occur in the elastic range of the partner country's offer curve/9TETT 297 % 75Ty a% £t e drav & ffa gravr € [Option 1D = 10008]

Correct Answer :-
® Must occur in the elastic range of the tariff imposing home country's offer curve/TS[#F =TI ATer T4 347 % ToaTa A% Ff drerare S & dac f g g
[Option ID = 10005]

23) The movement from old level of expenditure and taxation to a new and higher level is called:

=T W FLHTH F T Fq<H A7 AT IFATEAT X M EATT K] FATFZTATATE ?
[Question ID = 2503][Question Description = $3_qSNz_PG_ECO_Q23]

1. Concentration effect/Ha=m 741= [Option D = 1000%]
2. Inspection effect/ At war= [Option D = 10010]
3, Displacement effect/fS=arT= 7919 [Option ID = 10011]
4, All of the above/T7 & & w4t [Option 1D = 10012]

Carrect Answer ;-
» Concentration effect/Hawsm T4 [Qption D = 10009]

24) Which method can help in obtaining a welfare improvement, if externalities exist?

i qrEraTd arfReea ¥ 1gdt €, ar Frafuiya & sta-at iy seamor gare ST iy § agrasgraws € 2

[Question ID = 2504][Question Description = $3_qSNz_PG_ECO_Q24]

1. Pigovian taxes/fSTii&== %< [Option ID = 10013]

2. Regulation/fafR=m= [Option ID = 10014]

3. Assigning property rights and permitting bargaining/wexaT sifaTe T2 w97 $7% Wra- AT FF aAia 297 [Option 1D = 10015]
4. All of the above/TT ¥ & w4t [Option 1D = 10016]

Correct Answer ;-

e Pigovian taxes/foS== FT [Option 1D = 10013]

25) The efficiency condition in the production of pure public good requires that the production be carried out up to a point
when:
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{where MB; represents Marginal Benefit of the 'i*™ individual and MB; represents Marginal Benefits that actruan®&vedifftill Exams Guide
individual and MC is the marginal cost}

faqz Trdwfas a5g & Io0TeT & q@ar Rafy & fro oz gifyry 2 P sonrea ga fovg av o w@roTT 99

AgT MBi , (i) =T & diata ara 7 gafar g, ste MBj Hratg e ot () "= 9% T grar & #1 gafar 2, st mc Hfiraig
SIREE ]

[Question ID = 2505][Question Description = 53_qSNz_PG_ECO_Q25]

n-1 n—1

. MB; + Z MB; = MC/MB; + Z MB; = MC
j:l j=1

[Option ID = 10017]
n-1

2. MB;'PZMB}}ME ,!JMB{'I'ZMB’;::'MC
F=1 =1

n—1

[Option 1D = 10018]
n-1 n—1

MB:+ ) MB;< MC/MB;+ ) MB; < MC

=1 J=1
3 n—1

MB; — Z MB; > MC
J=1

[Option ID = 10019]

n—1
MB; — Z MB; > MC

j=1

n—1
/MB; — MB; > MC

j=1
[Option ID = 10020]

Carrect Answer ;-
n=1 n=1

* MBi+ ) MBj=MC/MBi+ ) MB;=MC
=1 j=1

[Option ID = 10017]

26) The incidence of which of the following will entirely be on the monopolist?

frafafag 9 & st 9 oeasrErd wgd g aaRa g e

[Question ID = 2506][Question Description = 53_qSNz_PG_ECO_Q26]
1. Lump-sum tax/7T%H3T F2 [Option 1D = 10021]

2. Specific tax/fafdre &< [Option ID = 10022]
3. Regulated monopoly pricing/ T waifesR 7797 [Option ID = 10023]
4. None of these/T# & %1% &l [Option 1D = 10024]

Correct Answer :-

¢ Lump-sum tax/TEHLA F [Option ID = 10021]

27) Which of the following is NOT a Commercial Bank?

frafafga &  srmerafvas s adt @ ?

[Question 1D = 2507][Question Description = $3_qSNz_PG_EC0_Q27]
1. Public Sector Bank/HTHw=# =¥ ¥ [Option ID = 10025]

2. Private Sector Bank/fS=it &= 3= [Option ID = 10026]

3. Regional Rural Bank/&=ft= Imdior <= [Option D = 10027]

4. Co-operative Bank/FgFHT &% [Option 1D = 10028]

Carrect Answer ;-
# Public Sector Bank/am&=i= £ % [Option ID = 10025]

28) Liquidity Adjustment Facility (LAF) was recommended by

FLAAT FATATSIT gIAar (v v uw) 1 Rresricer oo 7 :
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1. C. Rangarajan Committee /3t e Fi#fa [Option ID = 1002%]
2. Raghuram Rajan Committee/T9x¥ T #iuTa [Option ID = 10030]

3, Narasimham Committee - /7w |afgf= 11 [Option 1D = 10031]

4, Bimal Jalan Committee/faas sTam FfRfT [Option 1D = 10032]

Correct Answer :-
e (. Rangarajan Committee/ S FTHTT [Option ID = 10029]

29) Which of the following is TRUE for Bank Rate?

Frzrd ae # afarfga d sraadt g ?

[Question ID = 2509][Question Description = 53_qSNz_PG_ECO_Q29]

1. Increase in Bank rate by Central Bank would increase money supply keeping other factors constant/Fdte ¥ 7% # gie ga ®Iewi H1 BaT T@d gu angia
Y 78T 231 [Optien ID = 10033]

2. Bank rate is a qualitative instrument /&% 3% W% TR TR (355A2) £ [Option 1D = 10034]

3. Bank rate is the minimum rate at which the Central Bank provides credit to financial institutions against securities of the government/% 3% ag

=raw =% § B o Fd dF g afeafe # a=s fefer doamt 7 s w21 St £ [Option 1D = 10035]
4. Bank rate is a direct instrument of credit control/$% =7 gra A= #7 TF wewst TvECw ¢ [Option ID = 10036]

Correct Answer ;-

e |ncrease in Bank rate by Central Bank would increase money supply keeping other factors constant/F3T 9% 2T o 30 g0 F14H #1 faT Tad gU Ay
I 92T &7 [Option ID = 10033)]

30) Human Development Index (HDI) currently, as published by the UNDP is calculated by using which of the following?

F TA ST I g1 THAT AT FAHTH gAvi® (TT 3T ars) 1 g ara # Frafafys & @ Fad swvr g aoa Sy s g 2

[Question ID = 2510][Question Description = 53_qSNz_PG_ECO_Q30]
Geometric Mean /=ATTH T A7 [Option 1D = 10037]

Arithmetic Mean/#F Tordi=@ 12 [Opticn ID = 10038]

Harmonic Mean/g<ra% #9127 [Option (D = 10039]

Quadratic Mean/fg=mata A [Option 1D = 10040]

T e

Correct Answer ;-
e Geometric Mean/saTiE=1= AT [Option 1D = 10037]

31) Harrod-neutral technical progress is necessarily:

TUT Oy s e sieaetar
[Question ID = 2511][Question Description = 53_qSNz_PG_ECO_Q31]

Growth augmenting/#3f& a4 £ [Option 1D = 10041]
Labour augmenting/w Ta¢® g [Option ID = 10042]

Capital augmenting/J=iT 4% & [Option ID = 10043]

Resource augmenting/ =T H94F ¢ [Option ID = 10044]

e ld B

Correct Answer :-
e Growth augmenting/¥3g H=4% g [Option ID = 10041)

32) Which among the following is NOT part of the neoclassical theory of growth?

frafafaa @ @ sradafe 3 93 sdr Reiasrammadi g ?

[Question ID = 2512][Question Description = 53_qSNz_PG_ECO_Q32]
Swan Model/=a "ig9 [Option 1D = 10045]

Meade's Model/His Ais= [Opticn ID = 10046]

Pasinetti Model/3TEwgt witsa [Option ID = 10047]

Solow Model/ar=T 7ifz= [Option ID = 10048]

oW R

Correct Answer :-
e Swan Model/TT BT=w [Option 1D = 10045]

33) If a production function admits both Harrod and Hicks neutral technical progress, the elasticity of substitution should be

TfE +1E Seurea waw g0 g fEww et gy yufy 97 wfiawre sgar § 9t samefy ar faafafas it aifgg -

[Question ID = 2513][Question Description = $3_qSNz_PG_ECO_Q33]
equal to one/TF F AT [Option D = 10049]

equal to zero/ =T & A9 [Option 1D = 10050]

equal to infinity/a+d & F91 [Option 1D = 10051]

equal to one divided by two/T% =T a1 & G99 [Option ID = 10052]

a2
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Correct Answer :-

» equal to one/TF F THT [Option 1D = 10049]

34) The total population of city "X’ in 2011 was 28 lakhs and the total number of live births was 50 thousand. Find out
crude birth rate per 1000 population

2011 § g X 7 FF @ SAT 28 AT1w 91 T Far Arfaa farggai 71 9537 50 TAMT AT TAF AT ATH AT I AT T7ATT
YT ANTIL ?

[Question ID = 2514][Question Description = $3_qgqSNz_PG_ECO_Q34]
1. 178.57/178.57 [Option ID = 10053)

2. 1.7857/1,7857 [Option ID = 10054]

3, 17.857/17.857 [Option ID = 10055]

4. 0.17857/0.17857 [Option ID = 10056]

Carrect Answer ;-
o 178.57/178.57 [Option ID = 10053]

35) According to Ronald Coase, which of the following statements is CORRECT for pollution control?

AATee FIT & FTare 7w fadaor 33 Faferfrs saat 6 w17 adr €2

[Question ID = 2515][Question Description = $3_qgqSNz_PG_ECO_Q35]

Providing property rights to the state/¥1=3 =1 §9R1 % &1L 92 441 [Option ID = 10057]

Providing property rights to the legal institutions/faiE dormT 1 99fy % «fd=r 729 F<47 [Opticn ID = 10058]
Providing property rights to polluters and pollutees/Sgu® 3T Fgfta &1 FUiw & ATUHEE 7@ FA1 [Option ID = 10059]
Providing property rights te Trade Unions/=r &1 7 g9t & A%< w1 #2417 [Option 1D = 10060]

-

Correct Answer :-
e Providing property rights to the state/7r=9 &t gty % i g2 FL97 [Option ID = 10057]

36) According to Census 2011, which one of the following states has the highest share of rural population?

T¥ 2011 & Aq0aT ® A Frafafas & § S st & ardfiw st sraaifas g ?

[Question ID = 2516][Question Description = 53_qgqSNz_PG_ECO_Q36]
Bihar/f=gT= [Option 1D = 10061]

Qdisha/#f=Z2m [Option ID = 10062]

Uttar Pradesh/35< w&ar [Option 1D = 10063]

Himachal Pradesh/ZwT== w32 [Qption ID = 10064]

o B

Carrect Answer ;-
 Bihar/fag< [Option 1D = 10061]

37) At present, for the estimation of GDP in India at constant prices, which one of the following years is used as the base
year?

FAATT # ATXa 7 97T T o F FraT FrqaT v snwaT # forg P fawfafag af stararead # w0 wao frarsrard ?

[Question ID = 2517][Question Description = $3_qSNz_PG_ECO_Q37]
2011-12/2011-12 [Option ID = 10065]
2010-11/2010-11 [Option ID = 10066]
2014-15/2014-15 [Option ID = 10067]
2000-01/2000-01 [Option ID = 10068]

oW

Correct Answer -
o 2011-12/2011-12 [Option ID = 10065]

38) Which of the following statement is CORRECT for 'Atmanirbhar Bharat Rozgar Yojana' launched on November 12,
20207

12 999X 2020 T AXA T T 'AATAAT AT AAMANFAT F oag d gpfysd a staarsavadrg ?
[Question ID = 2518][Question Description = 53_qSNz_PG_ECO_Q38]

1. Establishments which make new hires will get a subsidy to cover retirement fund contribution by employees and employers for 2 years/ 17 T=NITT

giem F e arer wiAgT &t e gty Fid F et 7wt & sere 1 7 § 2 96 7% o ggraar et [Option 1D = 10069]
2. Establishment will get a subsidy of Rs.10 crore for a period of 5 years/Taem F1 5 79 i srafyr & fro 10 w07 593 F o weroar 4ot [Option 1D =

10070]
3. Establishment will get tax profit continously for a period of 3 years/TfEem F1 svmare @i 79t % o == § =y BT [Option ID = 10071]

4, Establishment will get tax subsidy for 5 years. /TS FT 5 99T TF F2 I AgFAT (H=[T [Option ID = 10072]

Correct Answer ;-
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Hferg F2 FTel Trasr=T 7 =7 Fghy i § Faeest 9 Fa=antgt & steram= §1 75 7 &7 99 9% 79 92r7ar fwent [Option (D = 10069]

39) The 15 Finance Commission ( FC ) has recommended that the States be given what per cent of the divisible tax pool
of the Centre during the period 2021-2022 to 2025-267

15 F s araT (TF 1) 7 agaar =t g FF 2021-22 § 2025-26 FY i F 0w At 7 Feg B AITST FOqHFT
aioaa g« :

[Question ID = 2519][Question Description = $3_qSNz_PG_ECO_Q39]
1. 51/51 [Option 1D = 10073]
2. 31/31 [Option 1D = 10074]
3. 41/41 [Option 1D = 10075]
4. 61/61 [Option 1D = 10076]

Correct Answer ;-
e« 51/51 [Option |D = 10073]

40) Which of the following sectors of the economy registered highest growth rate in the second quarter of 2020-21 as per
estimate of N50?

wd=gaeqar 3 frafatag § § e 897 o af 2020-21 57 g9 faardt # gafg gfgsxsf g Uty aifead srafas 3
AFET F AT :

[Question ID = 2520][Question Description = $3_qgqSNz_PG_ECO_Q40]

1. Manufacturing/f&fawim [Qption ID = 10077]

2. Electricity, Gas, Water supply and other Utility services/f=[d, T8 S=r=mqfd 7 o=7 ITAH F=270 [Option 1D = 10078]
3. Agriculture and Allied sectors/#f% o @&z &= [Option ID = 10079]

4. General Administration/Im™A= 99199 [Option ID = 10080]

Correct Answer ;-
& Manufacturing/faf==ier [Option ID = 10077]

41) Which of the following measures are used by a risk-averse person to minimize risk?
A. Diversification of resources

B. Insurance of risk event

C. Total cost of resources

D. Value of information of risk event

Choose the correct answer from the options given below:

HEw § 999 9 Afw gro AT T gaaaa@ 3 g fAafafagd a sa-F s fFy o €
A, g9TEAT ®T FFrsgwHTw

B, SIfgw gTa1#1 #1497

C. FHTYAT 1 FF ATAG

D. SIf&EH TTAT FT ATTHIL FT =T

A fRT o frweat F 8 g 9T s 97T fifve

[Question ID = 2521][Question Description = $3_qSNz_PG_ECO_Q41]

A, B and C only/F=< A, B #iT C [Option ID = 10081]
A, B and D only/3=< A, B 3T D [Option ID = 10082]
B, C and D only/@=< B, C &< D [Option ID = 10083]
A, C and D only/®aw A, C &= D [Option D = 10084]

N PP L Y

Correct Answer ;-
e A, Band C only/&a A, B T C [Option 1D = 10081]

42) Which of the following statements are CORRECT for welfare economics?
A. Any competitive equilibrium leads to a Pareto efficient allocation of resources
B. Competitive equilibrium does not lead to Pareto efficient allocation of resources

C. Any efficient allocation can be attained by a competitive equilibrium given the market mechanism leading to
redistribution

D. There will be no Pareto efficient allocation of resources in the society
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Choose the correct answer from the options given below: Your Personal Exams Guide

frafufaa d & 917 - @ sgv s adara s readie ?

A, Frdt Tl G o & G971 FTIRET - T AE ST AT R

B, wiravst dqaT & §ATHAT FT IS - S AT AL g1av1 8

C. FTATR AT & CATAGTW 9 & 9od WA T Gqa9 & F1E 97 MG A ITH T AFATE
D. FATS § HATEAT FT HI% TSN - T4 A9 TGT g7

= fyT o faswsai & € 9t ST FTwTTAAfNT;

[Question ID = 2522][Question Description = $3_qSNz_PG_EC0_Q42]

A, B and C only/3=<1 A, B 3T C [Option 1D = 10085]
A and C only/#a A % C [Option ID = 10086]
B and € only/#a B #iT C [Option ID = 10087]
C and D only/F9= C 4% D [Option ID = 10088]

Pk ot R s

Correct Answer ;-
e A, Band Conly/%a9 A, B &fiT C [Option 1D = 10085]

43) Which of the following conditions hold true for factor pricing when factor market is perfectly competitive and product
market is monopolistic?

A, VMP > MRP

B. Both VMP and MRP decreasing
C. VMP < MRP

D, MRP_L = W

Choose the correct answer from the options given below:

frwfatag & 9 wt7 w1 Rafaat soram fraa Fator # 3w a9 € ai@ syram™ arere gofaar staedt € i soore 19
THITAFIIRTFE ?

A, VMP > MRP

B. VMP ST MRP 19T TH BT @ &

C. VMP < MRP

D.MRP_ = W

= fyw v frsedt § & gt s =T 937 AfHw

[Question ID = 2523][Question Description = $3_qSNz_PG_ECO_Q43]

A, B and C only/@=s A, B 3iiT C [Option 1D = 10089]
B, C and D only/35% B, C &< D [Option 1D = 10090]
A, B and D only/33% A, B 4 D [Option 1D = 10091]
A, C and D only/®aw A, C &= D [Option D = 10092]

TV Ry

Correct Answer :-
e A, Band Conly/a9 A, B &fiT C [Option 1D = 10089]

44) Which of the following functions will result in an investment multiplier of value 4?
A.C=50+.25Y

B.C=50+.75Y

C.5=-50+.25Y

D.1=50+.75Y

Choose the correct answer from the options given below:

feratofara wa=t 9 s afooms vs tar =3 a qus g, Srasrarw 4
A.C=504+.,25Y

B. C=50+.75Y

C.$=-50+.25Y

D.1=50+.75Y

= Ty f3wedi & ® 9 SO ST 99T Hiww
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[Qu&ﬁtiﬂn ID = 2524][Qu95ti0n Des-criptiﬂ‘n = 53_q5N2_PG_ECDHQ44] Your Personal Exams Guide

1. Aand C only/sa= A &% C [Qption ID = 10093]

2. Cand D only/F= C 3T D [Option ID = 10094]

3. A and D only/#a A #% D [Qption ID = 10095]

4. Band C only/#a+ B #iT C [Option ID = 10096]

Correct Answer ;-

& 4 and C only/F@e A = C [Option ID = 10093]

45) Which of the following are CORRECT?

A. If observations are selected purposively, it is called a method of non-random sampling

B. If observations are selected in an ad-hoc manner, it is called a method of non-random sampling

C. If observations are selected in a systematic manner it is called a method of non-random sampling

D. If observations are selected on the basis of judgment, it is called a method of non-random sampling

Choose the correct answer from the options given below:

frefafaad & stasaaadt g ?

A. af¥ ot 1997 @igeq , T 59 A arg s =T # Ry sgramard

B. wfx Y&roit 7997 azd w7 & farorar &, a7 7/ #4< - argfas vfoaas € fafy sgramr 2

C. afx S&on F71 977 gAIR99 TR FFara7a71 §, 91 39 A= agos simaa fi Ty sgramarg

D. af¥ Srawit w7 =777 fofar * sy 9 fRar smaT &, 97 T8 4T - argHes yiaway 5 frfy sgramr 2
19 faw o fawsai § § 9 59T F7 997 Hifsrg :

[Question ID = 2525][Question Description = $3_qSNz_PG_ECO_Q45]

A, B and C only/%5<1 A, B #fiT € [Option 1D = 10097]
B, € and D only/%i5w B, C &% D [Option 1D = 10098]
A, C and D only/#a= A, C 3% D [Option |D = 10099]
A, B and D only/%3<1 A, B i< D [Option 1D = 10100]

o B

Carrect Answer ;-
s A, Band C only/#a= A, B 5T € [Option ID = 10097]

46) Which are the following correct features of matrices?
A. An identity matrix is a square matrix
B. An identity matrix when gets transposed remains an identity matrix
C. (A.B)T = AT.BT where A and B are matrices
D. (AT = (AT)~1 where A is a matrix

Choose the correct answer from the options given below:

fFofafad 5 9 Afde & I8 Mg i 38 2

A. T dIG1ed Aidey Ud @ Afitad g1

B. T dIGIeTd AfSaR &R0 814 W diered Afca €1 gar 8|
C. (A.B)T = AT.BT SE1 A 3R B AT B

D. (A1T = (A7)~ Vgl A U ARG B

1 U 71U fadpeut # ¥ Ie1 SR & 999 DI ;

[Question ID = 2526][Question Description = $3_qSNz_PG_ECO_Q46]
1. Aand B only/F3 A 3117 B [Option 1D = 10101]
2. Band C only/#9+ B 31T C [Option ID = 10102]
3. Aand C only/%9+ AT C [Qption D = 10103]
4. C and D only/&=a= C iz D [Option ID = 10104]

Carrect Answer ;-
® A and B only/&4 A 3% B [Option 1D = 10101]
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47) When the exchange rate changes from 1% = Rs. 72 to 15 = Rs. 68, then the: Your Personal Exams Guide
A. Rupee has depreciated
B. Dollar has depreciated
C. Rupee has appreciated
D. Dollar has appreciated

Choose the correct answer from the options given below:

FTfafagars 1 @Eley = 5. 729 1sf9v =% 68 7 gfgfdagrar d aq :
A, T F e A g idT 8

B, staL % A& & fzraz Ndt g

C. T v Hsa R gfg gt &

D, ETATH o0 # i a1 &

= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2527][Question Description = $3_qSNz_PG_ECO_Q47]

A and D only/#a= A #< D [Option |D = 10105]
B and C only/#a= B 3z C [Option ID = 10108]
C and D only/F93 C 4T D [Option ID = 10107]
A and B only/ %9 A &% B [Option 1D = 10108]

N PE R o Y

Correct Answer :-
e 4 and D only/= A &< D [Option ID = 10105]

48) Which of the following are a source of market failure?
A. The existence of public goods

B. The presence of externalities

C. The fact that some goods are rivals in consumption

D. The existence of monopolies

Choose the correct answer from the options given below:

frafufaa d & st7 - ar I Rwaarsrara g ?

A, grasfas aeqe w1 A<

B, FTEaTait &1 sufRefy

C. 3T <7 T §F a&qd SUFIT 7 giaevdT 2

D. uHTfars1<l w1 afRa<w

= ATy fawedi & ® 98 ST 9T HWC

[Question ID = 2528][Question Description = $3_qSNz_PG_ECO_Q48]

A, B and D only/35% A, B &% D [Option 1D = 10109]
A, B and C only/33% A, B 4T C [Option 1D = 10110]
B, C and D only/33% B, C & D [Option 1D = 10111]
A, C and D only/F3 A, C 3T D [Option 1D = 10112]

N N VE N S ey

Correct Answer :-
e A, Band D only/%a9 A, B &fiT D [Option 1D = 10109]

49) Which of the following would reduce the credit creation capacity of a Commercial Bank?
A. Time and Demand deposits

B. Loans

C. Deposits with the Central Bank

D. Cash in hand

Choose the correct answer from the options given below:

frefafaa & § e - e @ oo arforRas 5 #91 wo gov gaar w49 g st ?

A. arata 9 AT T IHT
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B. =T

C. ®vdfty §= R 19 AAT

D. ET9 & F%dT

1= faw o fa=wsTi § § 97 59T F1 997 Fiiog :

[Question ID = 2529][Question Description = $3_qSNz_PG_ECO_Q49]

1. Aand B only/Fa A 3117 B [Option 1D = 10113]

2. Band C only/#9+ B &< C [Option ID = 10114]
3. Cand D only/&== C 3T D [Option ID = 10115]
4. A and D only/#9+ A3 D [Option |D = 10116]

Correct Answer ;-
® A and B enly/%@+ A =< B [Option ID = 10113]

prepp

Your Personal Exams Guide

N O PUR  J

50) Which of the following measures would result in an increase in the money supply in the economy?

A. Purchase of government securities from the public by Central Bank
B. Deposit of currency in Commercial Banks by the public

C. Borrowing by the government from the Central Bank

D. Sale of government securities to the public by the Central Bank

E. Minting of more money by the Central Bank for circulation

Choose the correct answer from the options given below:

frafafys # @ O STral ® weegsy gf=ygeqr § qur argf¥ € g iaft 2
A, wedty &% grer FagTarey § ard gt S el

B. StAargrew grer arfurfSas I & gar w91 SAr

C. FTHFTTEILT FAY 5 § sHor FAr

D. Bt &% g7 FAFTAT FT FLHRTL vy & fadh

E. adty &% gror afvsraw & g sofas garg=rd 7 ggor

A= faT o frweat F 8 9 9T s 97T fifve

[Question ID = 2530][Question Description = $3_qgqSNz_PG_ECO_Q50]

A, C and E only/3=<1 A, C &1 E [Option ID = 10117]
B, C and D only/#==1 B, C &= D [Option ID = 10118]
A, B and C only/@=< A, B @i¥ C [Option ID = 10119]

Correct Answer ;-
e A, Cand E only/@a« A, C #iT E [Option ID = 10117]

B, D and E only/&=« B, D %< E [Opticn ID = 10120]

51) Inequalities in income are measured by which of the following?
A. Lorenz Ratio

B. Theil's Index

C. Palma Ratio

D. Deprivation Ratio

Choose the correct answer from the options given below:

frafarfyg & fvo= g1 s & sgwAaTsl FTATITIATATR ?

A. SIS T

B. &3 gAFIH

C. 9TSHT AquTT

D. 97 T

19 faw o fawsai § § 9t 59 1 997 {550 ;

[Question ID = 2531][Question Description = $3_qSNz_PG_ECO_Q51]

1. Aonly/#T% A [Option ID = 10121]

2. Aand B only/F99 A 5T B [Option 1D = 10122]

3. A and D only/#a= A 3% D [Qption |D = 10123]

4. A, B and € only/F3< A, B 3= C [Option 1D = 10124]
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Carrect Answer ;-
® A only/sF A [Option ID = 10121]

52) Which of the following is/are true?

A. Ministry of Environment and Forests in India was established in 1985
B. Central Pollution Control Board was established in 1984

C. Environment Protection Act was enacted in 1990

D. National Environment Appellate Authority Act was passed in 1977

Choose the correct answer from the options given below:

frefafgad @ st7 -sraadfrg ?

A. MTTT | Taia<w O 99 AATAT BT TATIAT 1985 H g% o

B. F T WU Ma=Tw 1< ST eqTIAT 1984 § gL A7

C. 9T G AFATTaH 1990 § AMTEA A A7

D. Xr¥tg wotacor sttt wrigrsor stferfaraw 1977 & arica gar ot
= ATy f3wedi & § 9 SO FT AT AW C

[Question ID = 2532][Question Description = 53_qSNz_PG_ECO_Q52]

A, B, Cand D only/A, B, C &= D [Option ID = 10125]
B only/#9+ B [Option 1D = 10126]

C only/#9= € [Option D = 10127]

A and D only/#97 A o< D [Option ID = 10128]

HE N TR 5 Y

Correct Answer ;-
a A B, CandDonly/A, B, C3iTD [Option ID = 10125]

53) In which of the following ways have there been structural changes in agricultural and rural areas in India?
A. Crop diversification within agriculture sector

B. Diversification from livestock to crop husbandry

€. Diversification from non-commercial crops to commercial crops

D. Diversification from traditional inputs to modern inputs

Choose the correct answer from the options given below:

frafafea & & 7 701 & e 7 N s ardior &1 # gismra wfadrge g ?
A, T &7 F waw fafadiwor

B, 7qas & &Y - Tt w1 A iAo

C. AT - ATAATIAF FIAT & ArrA7IAF FFAT F1 M FAfadiwoor

D. ariafs arowat & svqgfas swwat 1 < fAfydisoor

= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2533][Question Description = $3_qSNz_PG_ECO_Q53]

1. A, Cand D only/#aw A, C 3 D [Option ID = 10129]
2. A, B and C only/33% A, B 4T C [Option 1D = 10130]
3. A, B and D only/33% A, B 4T D [Option 1D = 10131]
4. B, C and D only/#3% B, C &% D [Option 1D = 10132]

Correct Answer :-
e A, Cand D only/F9+ A, C 3% D [Option ID = 10129]

54) With reference to the programme 'NIDHI' which of the following statement(s) isfare CORRECT?
A. The programme of 'NIDHI' was started for students to begin startups

B. Its aim is to financially support 20 students for startups each year

C. Its aim is to financially support 200 students for startups each year

D. Its aim is to financially support only students of backward classes to start up each year

Choose the correct answer from the options given below:
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TAfY (A ST U ars) FIIFA P aesd ¥ Augfariga A S 19 - 4 T 9T € 7 Your Personal Exams Guide
A. Tafy srdsn Frarfiat § Bro eerd - a7 ards 523 * o sararrar

B. SAFT SE9F T2 - &4 & forg g W 20 farerid=t 7 fA<tg agraar w<ar g

C. IAFT I2 4T w212 - F7 & e gT a9 200 FRrefi=t <t fa<fig ggraar sw@r g

D. TAFT Io &4 F12 - A7 % frg gTad a99 fge av7 @ FraS=y ) Fdta agraarsar g

1= faw o fa=wsTi § § 97 59T F1 997 Fiiog :

[Question ID = 2534][Question Description = $3_qSNz_PG_ECO_Q54]

A and D only/#9 A 1% D [Option ID = 10133]

A and B only/=9+ A 37 B [Option 1D = 10134]

A, C and D only/%#= A, C 3= D [Option ID = 10135]
C and D only/&== C 3fiT D [Option ID = 10136]

O e

Correct Answer ;-
® A and D only/3@e A =< D [Option ID = 10133]

55) Which of the following statements are CORRECT in regard to FDI in India in FY 20207
A. Share of services sector is highest

B. Share of infrastructure activities is highest

C. Share of computer hardware and software is in the second position

D. Share of telecommunications is highest

Choose the correct answer from the options given below:

frafafaa & & 917 - 97 A o 2019 - 2020 ¥ w1a § veag PR RRgr S gagd adv &2
A. B9t &7 571 fevar afysaa 2

B. sruris A==t fearsamat #71 fgzar sfgysan g

C. FT gre AR AT afwed T %71 fgear Wtz syra v 2

D, gTEATC %7 fRear afysaa g

= T T fawedi & & FE SO FT 999 FIAT

[Question ID = 2535][Question Description = 53_qSNz_PG_ECO_Q55]

A and C only/#a A % C [Option ID = 10137]
B and C only/#9+ B 3T C [Option ID = 10138]

B only/#9+ B [Option 1D = 10139]

C and D only/F3= C 3fiT D [Option ID = 10140]

N W PUR Y

Correct Answer ;-
& Aand C only/&aw A3 C [Qption ID = 10137)

56) Consider the following statements about the rational expectations model :

A. Monetary policy cannot affect output and employment

B. Unanticipated changes will not affect real variables in the very short run

C. There is equilibrium in the markets

D. Economic agents use all relevant available information to form their expectations

Choose the correct answer from the options given below:

arfEs wearar Atze & I} § Awfatys s947 93 ffae Fifvo .

A, 7Yfes Ay fofa @z Qe 1 warfg adf stasd

B, orfa =y w9t & areafers =71t 7 swcariég aara warfaa =gt :om

C. ITARE ¥ ggaa 1 RRufar g

D. arfg= srferwat (@) Aodt 7eqmardll F1 AT ET F AT G177 ITAST FATTHA FT TEAATH HIAT 8
= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2536][Question Description = $3_qSNz_PG_ECO_Q56]

A, C and D only/®aw A, C &= D [Option D = 10141]
A, B and C only/33% A, B 4T C [Option 1D = 10142]
B, C and D only/33% B, C &< D [Option 1D = 10143]
. A, B, Cand D/A, B, C 5= D [Option ID = 10144]

B R L
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Correct Answer :- Your Personal Exams Guide
e A, Cand D only/Faw A, C 3% D [Option ID = 10141]

57) In the context of investments, which of the following statement(s) is/are CORRECT?

A. According to the accelerator model, investment demand is proportional to change in income
B. The higher the real interest rate, the higher is the rental cost of capital

C. Investment is a stock variable

D. The real rate of interest is equal to the nominal rate of interest plus the inflation rate

Choose the correct answer from the options given below:

g ® gead & fawfafga saaid sad adr g £ 2

A, FIF AT & aaar A wiv arg # sfada $ aarqardt €

B. fraar & areatas =arer 3¢ ofars graft saar & ¢sft 17 fegrar avor stfars it
C.frasrgw el w7 g

D. TS #T ATEATEF FTSATHA #1 oAT0F T AT ARIERT TR FA07T 10T 797 F I LA
= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2537][Question Description = $3_qgqSNz_PG_ECO_Q57]

1. A and B enly/%@e A = B [Option ID = 10145]
2. A and D only/#a= A #< D [Option |D = 10148]
3. Band C only/#a= B 3z C [Option ID = 10147]
4. Cand D only/F7# C @< D [Option ID = 10148]

Correct Answer ;-

e A and B only/Fa% A &% B [Option 1D = 10145]

58) Which of the following statements are CORRECT for correlation analysis?
A. Degree of linear association is measured between two variables

B. Predictability is not part of correlation analysis

C. Spearman has no contribution to correlation analysis

D. Cause and effect relationship is established through correlation analysis

Choose the correct answer from the options given below:

ggaag Agaw # fraforfas d § stwd savadr g2

A, T 0 & i Hus g9 Ay AT FrarorATAT ©

B. qyafgare &1 araef ggdds fArgaow s wrr adf 2

C.wg - dag fAguw & Royxda srard Tz adi 2

D. 48 - A5 fAF90 & A189q § F107 T wATT FT @5y wyrivy v srarg
A faT o fraweat F @ 9 9T T 97T fifve

[Question ID = 2538][Question Description = $3_qgqSNz_PG_ECO_Q58]

A and C only/F9+ A #< C [Option ID = 10149]
B and C only/#a B 3T C [Option ID = 10150]
A and B only/#9+ A 3% B [Option 1D = 10151]
A and D only/#a= A #< D [Option ID = 10152]

N S VT R ey

Correct Answer ;-
s A and C only/3@e A = C [Option ID = 10149]

59) Which of the following are NOT properties of Cobb-Douglas production function?

A. Cobb-Douglas production function is a homogeneous production function

B. Curves representing average and marginal productivity of inputs are not downward sloping

C. Marginal productivity of labour and capital in Cobb-Douglas production function are functions of the capital-labour ratio
D. Iso-quants of Cobb-Douglas production functions are positively sloped

Choose the correct answer from the options given below:
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frafafyd & @ #97 - FAT F1F - STAY STAIIA GAT R (U AL & 7
A. FYT - STAY ITUTIA GFT TF TATHY ITATET EAA 8

B. srwa FT dray 7 AATT IcuTEFHAT F1 vIAfAfE=a FA 19 7% srevgEt swAT AL |
C. T - TTAY ITITIA FHA | HF AT Gt #1 AT ITTTIHAT LA - HH ALTOT FT FA9E

D. ®1q - SATH ITATIA FAT D AH - ITTTIF AF (ATHT - FIZH) TATTHD TT 8 54T 8

9 AT oo faweTi § @ I87 ST FT IIT 1977
[Question ID = 2539][Question Description = $3_qSNz_PG_ECO_Q59]

1. Aand B only/F3 A 3117 B [Option 1D = 10153]

2. Band D only/&a+ B 3T D [Option ID = 10154]
3. Band C only/#a= B 3T C [Option ID = 10155]
4. Cand D only/&=3= C sz D [Option ID = 10156]

Correct Answer ;-
® A and B enly/%@+ A =< B [Option ID = 10153]

prepp

Your Personal Exams Guide

60) Improvement in the balance of payments deficit may be effected through:
A, Import controls

B. Export promotion

C. Foreign exchange control

D. Devaluation

Choose the correct answer from the options given below:

HIAATT ATATH 912 ® LAY FAT AT v awar g ?

A. srarg o

B. faata wreaTew

C. et e =

D. FAYFIT

= ATy f3wedi & § 9 ST AT AW

[Question ID = 2540][Question Description = 53_qSNz_PG_ECO_Q60]

A, B, C and D/A, B, C iz D [Option ID = 10157]

A and B only/ 9 A 5T B [Option 1D = 10158]

C and D only/#3= C 3T D [Option ID = 10159]

A, B and C only/%5<1 A, B #fiT C [Option 1D = 10160]

H S VU S RN

Correct Answer ;-
s A, B, CandD/A, B, C 3= D [Option ID = 10157]

61) Which of the following are relevant conditions assumed by the Factor Price Equalization theorem?

A. The countries are characterized by different factor endowments

B. The countries are characterized by different production functions

C. The industries are characterized by different factor intensities

D. Each country will export the commodity which uses its abundant factor

Choose the correct answer from the options given below:

qrET SIAq aaar et a g1 59 dra s FYATATHN09ar R ?

A, 7 3 5t fafw arga deTedza 9 Rdwar s &

B. ® 41 9T faf¥rer S<q1ae w14t #f Adwarars §

C. 3 g T fafhe oraw fiaaT 9 Rawar T £

D, T X 7o w7 AATa XM T 594D T FTIT FTITAT FLT 8§
= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2541][Question Description = $3_qSNz_PG_ECO_Q61]

1. A, Band C only/F3% A, B @< C [Option ID = 10161]
2. A, Cand D only/®am A, C &= D [Option D = 10162]
3. A, B and D only/33% A, B 4% D [Option 1D = 10163]
4, B, C and D only/Fa= B, C 3T D [Option 1D = 10164]
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Correct Answer ;-
e A, Band Conly/a9 A, B &fiT C [Option ID = 10161]

prepp

Your Personal Exams Guide

62) Zero Based Budgeting (ZBB) lays emphasis on:

A. Allocation of resources based on cost-benefit terms

B. Unlimited deficit financing

C. Preparing a new budget right from the scratch

D. Preparing the budget, neglecting the history of expenditure

Choose the correct answer from the options given below:

g argTied aweA (ST 14 fragrawdarg

A, ATTT - ATH rat o AyieT dqra=t o arariea AT

B. sreifira et o swaear

C. @9 | AT I ATAFTT FTT FLTAT

D. =T F ITAGTH #1 ITAT 73 U A AITT FIAT

= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2542][Question Description = $3_qgqSNz_PG_ECO_Q62]

1. A, B and C only/@=< A, B @i C [Option ID = 10165]
2. A, Cand D only/#as A, C 3 D [Option D = 10166]
3. B, C and D only/a@=< B, C &< D [Option ID = 10167]
4. A, B and D only/#3% A, B @< D [Option 1D = 10168]

Correct Answer ;-

e A, Band C only/Za A, B T C [Option 1D = 10165]

63) Which of the following statements are relevant for Gender Budgeting?
A. Preparing a separate budget for women

B. Gender budget is not practised by the Government of India

C. Evaluating budgetary provisions with a gender perspective

D. Gender budgeting is a tool for Gender Empowerment

Choose the correct answer from the options given below:

Forar sryriey aafesw @seawfem & g fafofaa saaid S a9 § ?
A, wigaTat & ¥ g9 972 9797

B. ATTT AIFHTI GTLT AT THE IATH HT [RIT AR &

C. ¥ (=) afthew & gy a9 F W19 FT HFATHA

D. f&7 (de7) gadisn & frr Sexaafirgs araad s d §

= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2543][Question Description = $3_qSNz_PG_ECO_Q63]

1. Aonly/3=e A [Option ID = 10169]

2. Aand D only/#a A % D [Option ID = 10170]
3. Cand D only/393 C 4T D [Option ID = 10171]
4. A, B, Cand D/A, B, C & D [Option ID = 10172]

Correct Answer ;-

e A only/FT A [Option ID = 10169]

64) Which of the following are true for the Environmental Kuznets Curve (EKC)?

A. The relationship between Income and Environmental damages take the shape of an inverted U

B. EKC is applicable in case of irreversible environmental damage

C. EKC holds true for global pollutants

D. EKC hypothesis intends to represent a long term relationship between economic growth and pollution

Choose the correct answer from the options given below:
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TEig T iT EATLH 9% (SR R dAg H Aufofye § g w9 - w99 g ?
A. 17 T qafaeefia ofyr & dtw F1 95y frofeg U FTarwe F dard

B. sryreaTad At watacofity @iy & Aras & £t ey 2

C.AfapgasiF gaag R §H AT AT &

D. £ & AT FT wrEewAT fH$ iy 7 g ® dirw Hafafr ddg a3 Fi g
1= faw o fa=wsTi § § 97 59T F1 997 Fiiog :

[Question ID = 2544][Question Description = $3_qSNz_PG_ECO_Q64]

A and B only/ 9 A 5T B [Option 1D = 10173]

A and D only/#9+ A #< D [Qption ID = 10174]

C and D only/&&= C T D [Option ID = 10175]
A, B, C and D/A, B, C 3% D [Option ID = 10176]

O e

Correct Answer ;-
® A and B enly/%@+ A =< B [Option ID = 10173]

prepp
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65) Which of the following statement(s) is/are CORRECT for environmental evaluation?

A, Travel cost method measures the recreational values of Environmental Resources

B. Hedonic pricing is used for environmental amenities associated with property values

C. Replacement cost method is used by substituting natural resources with a man-made equipment
D. Defensive expenditure deals with preventive measures

Choose the correct answer from the options given below:

Taiaceia srFad  fog AeRifaa § @ sta - sta d sgaadt g ?
A. araT g Fafa qatacofta garaat & 747 - faars gog $7 gt g
B. TATHF =7 fagiawr &1 w417 €9fx g7a & @« faa vataoofts gt $ g frarsmar g

C. wfearas wrra Fafyr w1 w3 s fas gargay w1 araa i3y gages & wioeafa sk RErsmarg

D. XATHFT AT e sl & 94fAa §
= ATy f3wedi & § 9 ST AT AW
[Question ID = 2545][Question Description = 53_qSNz_PG_ECO_Q65]

A and B only/ %9 A & B [Option 1D = 10177]
B and C only/#9+ B 3T C [Option ID = 10178]
C only/#9= € [Option D = 10179]

Correct Answer ;-
& A and B only/&9 A 3% B [Option 1D = 10177]

A, B, Cand D/A, B, C 3T D [Option D = 10180]

HE NPT o gy

66) Match List | with List Il

List | IList 1

A, Perfect competition |I. Many real or perceived differences in products
B. Monopoly |II. Little or no difference in products

C. Monopolistic cumpetitionllll. Identical products

D. Oligopoly |IV. Product without close substitutes

Choose the correct answer from the options given below:

gt -1 7 gt -1l | gARE Fifsg:

AT - gAY -1l

A. ot wfaeagt . ITITE H FAT ATEATAT AT AAANYT Ha<
B. THRTTUFIT Il, SE9TE | 5T ATITFI1E FTT T Zrv

C. wwTTasrd wRewgt |l a939t Io1e

D. AFITfasTT IV, fA%z sigweT & faaT IeuTg

= feg g fawedt & & gt sw g
[Question ID = 2546][Question Description = 53_qSNz_PG_ECO_Q66]

A-NI,B-1IV,C-1,D -l [Option ID = 10181]
A-NI,B-1,C-I, D-IV[Option ID = 10182]
A-Il, B -1V, C-l,D- il [Option ID = 10183]
A-NI,B-1v, C- 1, D-1[Option ID = 10184]

Correct Answer ;-
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67) Match List | with List Il

List | IList 1

A. Menu cost I. Monetary Policy
B. Quantitative Easing |II. Inflation

C. Pump Priming |III. Phillips curve
D, Trade-off between inflation and unemploymendlv. Fiscal policy

Choose the correct answer from the options given below:

AT -1 FT AT -1 | gAR@ RHg

AT - AT -l

A. A7 ATIT . 7w Afy

B. WTATERE LAAAT I. TET=HRIfA

C. ardwfas afsrg . fsfreg 7%

D. FERTEEHT 7 T Iv. T TeTT A

= Ry f3weat & § adtsacgfvT .
[Question ID = 2547][Question Description = 53_qSNz_PG_ECO_Q67]

1. A-Il,B-1,C-1v,D- Il [Option 1D = 10185]
2. A-1,B-11,C-11, D- 1Y [Option 1D = 10186]
3. A-NLB-IV, C-1,D -1l [Option 1D = 10187]
4, A-IV,B-Nl,C-1, D-1[Option ID = 10188]
Correct Answer :-

a A-I,B-1,C-1V,D-Ill [Option ID = 10185]

68) Match List | with List Il

List | IList I

A. Carl Friedrich Gauss I. Central Tendency

B. Multicollinearity |II. OLS

C. Mode 1. Karl Pearson

D. Correlation coefficient |IV. Relationship among explanatory variables

Choose the correct answer from the options given below:

gt -1 7 gt -1l | gAREg fifHg:

AT - AT -l

A. FTS mefog 1y I gy

B. agawfaar Il. T T T

C. 9g7® . w1e foada

D. 9gEET TF Iv. TTERTY 93t & St gay

= feg g fawedt & & gt sw g
[Question ID = 2548][Question Description = 53_qSNz_PG_ECO_Q68]

A-IV,B-1,C-Il,D- Il [Option 1D = 10189]
A-Nl,B-1v, C-1,D- 1l [Option D = 10190]
A-Il,B -1V, C-1Il, D-1[Option ID = 10191]
A-Il,B -1V, C-1,D- 1l [Option ID = 10192]

HE NPT o gy

Correct Answer ;-
a A-IV,B-1,C-Il, D-Ill[Option ID = 10189]

69) Match List | with List Il

List | List ||

A, Convex Function 1. Basic Yariable

B. Input-Output Analysis Il. Use of Derivative

C. Linear Programming Ill. Hawkins-Simon condition
D. Marginal Propensity to Consume ||V, Demand Curve

Choose the correct answer from the options given below:

gt -1 F7 gt -1 § gafay Nifvo:

AT -l T -l
A. ITT FAT I. g7 =T
B. T - fsfa Ao 1. srers @Fafea) w1 =T
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| [C. e ITITHA II._gifeeg qrgas aF Your Personal Exams Guide
D. Hiwta 3adiw - v v. wtwam
= g g fFweTi & & gft sz gig .

[Question ID = 2549][Question Description = $3_qSNz_PG_ECO_Q69]

1, A-IV,B-1Nll,C-1,D -1l [Option ID = 10193]
2. A-1l,B-1ll,C-I, D-IV [Option ID = 10194]
3. A-lll,B-1¥,C-1,D -l [Option ID = 10195]
4. A-1¥,B-1,C-1ll,D - Il [Option ID = 10196]

Carrect Answer ;-
o A-IV,B-1Il, C-1,0-Il[Option ID = 10193]

70) Match List | with List Il

List | lList 1

A. Supply side of International Trade |I. David Ricardo

B. Demand side of International Trade |II. Bastable and Alfred Marshall

C. Opportunity cost of International Trade|||l. G. Haberler

D. Real cost theory of International Trade |IV. Alfred Marshall and Edgeworth
Choose the correct answer from the options given below:

AT -1 w7 AT -1l | gART fifeg

g - =T -l

A. ST =TT FT g i wer I. 2fas fepret

B. STCiFig ATITT FT AT I, FTedaer T wewe

C. gacidia srrare Y gagT AT . sft. gasfz

mww YT HT ITEATAF ATAT V. sehe Arda A<
T |Q'=lw‘

= faT o faswsat # 4 gt sae gt
[Question ID = 2550][Question Description = $3_qSNz_PG_EC0_Q70]

1. A-1,B-1¥, C-1l, D- Il [Option 1D = 10197]
2. A-IW,B-1,C-1, D- 1l [Option 1D = 101928]
3. A-L,B-IV,C-1I,D- 1l [Option 1D = 10199]
4, A-IV,B-1,C-, D -1l [Option 1D = 10200]
Correct Answer :-

o A-,B-IV,C-Il,D-I[Option 1D = 10197]

71) Match List | with List Il

List | IList I

A. Canons of Taxation |l. U. K. Hicks

B. Canons of Public Expenditure [II. Adam Smith

C. Effective Incidence of Tax |!II. Findlay Shirras
D. Benefit received approach of Public Expenditure|w. Erik Lindahl

Choose the correct answer from the options given below:

T -1 7 gAT -1l | gARE g

AT -1 T -

A. FCHTT & fagia l. . %. fgsw
B. ardwfaE =y & frgia Il. TEH fuy
C. FT FTWATHT ITT¢q I, fre=t e
D. grdsifas =47 § w18 ATH FT gAY Iv. ofys e

= faT o fassat & & gt s gfaT:
[Question ID = 2551][Question Description = $3_qSNz_PG_EC0_Q71]

1. A-1I,B-1I, C-1, D -V [Option ID = 10201]
2. A-1,B-11,C-1Il, D- IV [Option D = 10202]
3. A-1,B-1NIl, C-1¥, D-I[Option ID = 10203]
4, A-IV,B-1,C-1l,D- Il [Option ID = 10204]

Correct Answer :-
o A-J,B-1I,C-1,D-IY[Option 1D =10201]

72) Match List | with List Il

List | List I
|A. Security Exchange Board of India (SEBI) l. 1991
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B. National Securities Depository Ltd (NSDL) 1. 1992

C. Credit Rating Information Service of India Ltd (CRISIL) I, 1988

D. Investment Information and Credit Rating Agency of India (ICRA)IV. 1996

Choose the correct answer from the options given below:

AT -1 w AT -1l | gART i :

AT -1 AT -l
A. Faeg it cegss 1€ @) l. 1991
B. A a7 Rrgfcdis feaitre?di . (wa a1 uw) I, 1992
C. #fez Ik fwreRaw vty atw £Rar . FBfam . 1988

D. TFATIHT TrRILA AW UT % fee Tfew Aorey ot Zfear (3 ®)v. 1996

= AT g fFweTi & & gft sz gig:
[Question ID = 2552][Question Description = $3_qSNz_PG_ECO_Q72]

1, A-1,B- 11, C- 1N, D -V [Option ID = 10205]
2, A-IV,B- NI, C-Il, D-I[Option ID = 10206]
3. A-lll,B-1I,C-I¥, D- | [Option ID = 10207]
4. A-1,B-I¥, C-Il, D-1[Option ID = 10208]

Carrect Answer ;-
o A-LLB-II,C-Ill, D-Y [Option ID = 10205]

prepp

Your Personal Exams Guide

73) Match List | with List Il

List | List I

A. Adam Smith I. Theory of Big Push

B. R. Rodan |I!. Traditional Society

C. W. W. Rostow lll. Reserve army of labour
D. Karl Marx |IV. Division of labour

Choose the correct answer from the options given below:

gt -l w7 AT -1l | gARm i :

o - = -l

A. TE fuy I 98 g§ =1 Rrgis e@rd dtw far g
B. <. Trew I, ITE9hes 99Ts

C. =55, eseg Aeqra [l afxr=t 2t swefarg aar

D. FTH ATFH IV, 97 framsiT

= g g fFweTi & & gft sz giag
[Question ID = 2553][Question Description = $3_qSNz_PG_ECO_Q73]

1, A-I,B-1,C-1l, D -l [Option ID = 10209]
2, A-I,B-1II,C-1,D- IV [Option ID = 10210]
3. A-lll,B-1,C-I¥, D- | [Option ID = 10211]
4. A-1,B- 1V, C-1ll, D - Il [Option ID = 10212]

Carrect Answer ;-
o A-IV,B-1,C-Il, D-Ill[Option ID = 10209]

74) Match List | with List Il

List |

IList I

A, Conserving the Environment for benefit of the future generation

|I. Indirect use value

B. Search of Alternative fuels is hecessary because traditional sources are non-renewablehl. Option Value

C. Wood from the forest is useful as timber

I, Bequest Value

D. Insects are important as they help in pollination

|IV. Use Value

Choose the correct answer from the options given below:

AT -1 w7 AT -1l | gART fifeg

AT - AT -l
A. i 2T fiEY & IUgiw F v g S g I AVTET
BIAT ST 57

B. dFfeas $y7 ot @rs sNaeTw g F41HF qreafys =g

e iR st I, faFsy g=7

C. AT & 919 FFET TATLAT AT F w0 F IwAyAd St
8

. FEHIT o7

D. 12 - qa® ug=aqef § =70 § 17U § agg w@ § V. STFIU gEy
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[Question ID = 2554][Question Description = $3_qgqSNz_PG_ECO_Q74]

1. A-1,B-1l,C-1II, D- IV [Option ID = 10213]
2. A-lll,B-1,C-I¥, D- I [Option ID = 10214]
3. A-1l, B -1V, C-1,D -l [Option ID = 10215]
4

Correct Answer :-

@ A-1,B-1l,C-1ll,D- IV [Option ID = 10213]

75) Match List | with List Il

List |

IList I

A, NIRVIK

|I. A project directed to provide piped cooking gas to millions of households

B. Ayushman Bharat

|II. A scheme to enhance energy efficiency

C. Pradhan Mantri Urja Ganga (PMUG)

|III. Export credit insurance scheme

D. Perform, Achieve and Trade (PAT)

[[V. Programme related to health issues in the primary, secondary and tertiary
sectors

Choose the correct answer from the options given below:

gt -1 F1 gt -1 § gafay Nfvo:

gt -l = -l
A. TH A AT MER ;;;T:{ :'i:“' I #1 qTq § grar WL 7 9314
B. STLSTATA ATLA Il &=t g9ar gfE F59 #1 =i

C. Tt FoT 19T (]

. faafa s ST =37q
T # g )
D. faoyras, o = Iv. arafys, fadtas = gdtas ax & wareey
=TITE (41 T 2T qEt § a9 srdaw
A= o frawedt § & gt g9 gfac .

[Question ID = 2555][Qu

estion Description = $3_qgSNz_PG_ECO_Q75]

1. A-1I, B -1, C -1, D- IV [Option ID = 10217]
2. A-lll,B-1¥,C-Il, D- I [Option ID = 10218]
3. A-1l, B -1V, C-Ill, D- | [Option ID = 10219]

Correct Answer :-

® A-1l,B-1ll,C-1,D- IV [Option ID = 10217]

76) Arrange the following concepts of consumer behaviour in chronological order

A, Law of diminishing marginal utility

B. Law of demand

C. Revealed Preference

Analysis

D. Indifference Curve Analysis

Choose the correct answer from the options given below

SUATHT =g *1 (AT d Foaa13)f F1 FTATATLATE 7Y &
A. gTEETT €A1 svarar frasa

B. ATw ®T faaw

C. Sgrfea adtgar rguw

D. stafawra aF g

9 AT oo faweTi § @ I87 ST FT IIT 1977
[Question ID = 2556][Question Description = $3_qSNz_PG_ECO_Q7é]

B, D, C [Option ID = 102
A, D, C [Option ID = 102
, A, C, D [Option ID = 102
, B, C, D [Option ID = 102

bt B

Carrect Answer ;-

21]
22]
23]
24]

s A B, D, C[Option ID = 10221]
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77) Arrange the following business cycles in ascending order in terms of their approximate duration. Your Personal Exams Guide
A. Kondratiev cycle

B. Kitchin cycle

C. Jugular cycle

D. Kuznets cycle

Choose the correct answer from the options given below

fawfafaa syaarg a#i a7 3T ggaTig qafay @ g s F ang .
A, TregTifagg =1+

B, frfara =m

C. qUATAF

D. {SATH AF

= fyT o faswsai & € 9t ST FT wTT AAfNT;

[Question ID = 2557][Question Description = $3_qSNz_PG_EC0_Q77]

B, A, D [Option ID = 10225]
C, D, A [Option ID = 10226]

, C, B, D [Option ID = 10227]

, A, C, B [Option ID = 10228]

N PE R o Y

Correct Answer ;-
e C,B, A, D [Option ID = 10225]

78) ldentify the proper sequence in the traditional econometric methodology of conducting research
A. Data collection

B. Policy prescription

C. Testing of hypothesis

D. Formulation of hypothesis

Choose the correct answer from the options given below

aTd T B qIaieE e iy vgfa # sfyra sa srggafag .

A. AIRETFTEW

B. #1f¥ - faarfeor

C. afeweaar &1 afgw HTa7

D. gfwsyar w1 fAnfoa

A faT o fraweat F @ 9 9T T 97T fifve

[Question ID = 2558][Question Description = $3_qgqSNz_PG_ECO_Q78]

D, A, B, C [Option ID = 10229]
A, D, B, C [Option ID = 10230]
D, A, C, B [Option ID = 10231]
A, B, C, D [Option ID = 10232]

N S PO ey

Correct Answer :-
e D, A, B, C [Option ID = 10229]

79) What is the CORRECT sequence of the following?
A, Uruguay Round

B. Kennedy Round

C. Doha Round

D. Geneva Round

Choose the correct answer from the options given below

fagsraftsaFare ?
A, 309 gIT
B. 7Y 71T
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C. =IgTEIR

D. FAAT =T

19 faw o fa=wsai & § 9 59T F7 997 FHiivg :

[Question ID = 2559][Question Description = $3_qSNz_PG_ECO_Q79]

B, A, C [Option ID = 10233]
D, C, A [Option ID = 10234]
, B, C, D [Option ID = 10235]
A, B, D [Option ID = 10236]

a2

]

Carrect Answer ;-
o [ B, A, C[Option ID = 10233]

prepp

Your Personal Exams Guide

N S VT R ey

80) Arrange the introduction of the following taxes in India in chronological order.
A, Service Tax

B. Income Tax

C. Banking Transaction Tax

D. Gift Tax

E. Goods and Services Tax

Choose the correct answer from the options given below

A17a ® frafaifas 30 85 gaars £ srasargare syafeag ffvg
A. FET FT

B. STTHT

C. ¥ FqTZIT*T

D. STTTT FT

E. 919 T ¥9T Y

A faT o fraeat F 8 9 9T T 97 fifve

[Question ID = 2560][Question Description = $3_qgqSNz_PG_ECO_Q80]

B, D, A, C, E [Option ID = 10237]
B, A, C, E, D [Option ID = 10238]
B, C, A, D, E [Option ID = 10239]
D, B, A, C, E [Option ID = 10240]

Correct Answer :-
e B, D, A, C, E[Option ID = 10237]

N U Sy

81) Arrange the following committees appointed for the Banking sector in India in chronological order:

A, Urjit Patel Committee

B. Goiporia Committee

C. Narasimham Committee-1
D. Chakravarty Committee

Choose the correct answer from the options given below

q1La ® 8% a7 3 fou afsq frafatas afuafaat a1 stasarga saafag fifvig :
A, ItST w2a wfufy

B. sirggfoar afufa

C. aefdgw afufy - |

D. swadT afufy

A faT o fraweat F @ 9 9T T 97T fifve

[Question ID = 2561][Question Description = $3_qSNz_PG_ECO_Q81]

D, C, B, A [Option ID = 10241]
A, C, D, B [Option ID = 10242]
C, B, D, A [Option ID = 10243]
D, B, C, A [Option ID = 10244]
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Correct Answer :- Your Personal Exams Guide
e D, C, B, A[Option ID = 10241]

82) Arrange the following in chroneclogical order in which they were introduced:
A. SDGs

B. MPI

C. PQLI

D. HDI

Choose the correct answer from the options given below

frafofia 1 o938 w9 § O R FTARATLATS F97C

A, TR St

B, g dtarg

C.fisFg ua &g

D. t= & g

= fRT wy f3wedi & § 9 ST 9T W

[Question ID = 2562][Question Description = $3_qSNz_PG_EC0_Q82]

D, C, A, B [Option ID = 10245]
C, D, B, A [Option ID = 10246]
C, B, A, D [Option ID = 10247]
D, C, B, A [Option ID = 10248)

N VL B T Y

Correct Answer ;-
o D, C, A B [Option ID = 10245]

83) Arrange the following United Nations Framework Convention on Climate Change (UNFCCC) conferences in chronological
order

A, Copenhagen Conference
B. Doha Conference

C. Paris Conference

D. Katowice Conference

Choose the correct answer from the options given below

AFITY TRFST T HIF VE T HATE FI99 (Z €T CF 97 9T 9 FAufEriys araaat w7 srasagare gaftey it
A. FIOTEHT GERET

B. RYET G+HAT

C. vfm avR=w

D. FTEITTEH TFERAT

1= faw oo fawsTi § § 9 59 F7 997 FHifsg ;

[Question ID = 2563][Question Description = $3_qSNz_PG_ECO_QB83]

B, C, D, A [Option ID = 10249]
D, C, B, A [Option ID = 10250]
A, B, C, D [Option ID = 10251]
C, D, B, A [Option ID = 10252]

a2

+

Carrect Answer ;-
s B C D, A[Option ID = 10249]

84) Consider some of the schemes/programs introduced by the Government of India to enhance agriculture productivity
and farmer's income. Arrange them in chronological order of their appearance.

A. Soil Health Card Scheme

B. Kisan Credit Card Scheme

C. Pradhan Mantri Fasal Bima Yojana
D. Doubling Farmers' income program

Choose the correct answer from the options given below
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Your Personal Exams Guide
%Y Fearawar < FHarat #1 srg § 35 527 F fao wrea aewre g sidw Y v ==FrAT / FrdFat o frar fifvg s+ 399
i Pre SR F FrAFATLITC AN

A. W1 TATE] FTS AT(AT

B. FFaTa ffyz %1 wdhiw

C. aTa9 AT Fa« /T FrSAT

D. BrgTaT #7F swq FY AT FA FT HAFA

1= faw o fa=wsai § § 9 59T F1 997 FHiivy ;

[Question ID = 2564][Question Description = 53_q5Nz_PG_ECO_QB84]

B, C, D [Option ID = 10253]
A, C, D [Option ID = 10254]
, C, A, D [Option ID = 10255]
A, D, C [Option ID = 10256]

o B

Carrect Answer ;-
« A B, C, D [Option ID = 10253]

85) Arrange the following Committees of poverty estimation in chronological order:
A, Alagh Committee

B. Lakdawala Committee

C. Tendulkar Committee

D. Rangarajan Committee

Choose the correct answer from the options given below

fardaar sreaw At atartag afafyat s sesamgae and :

A. o9 giyfa

B. wFeTaTar AfH Y

C. dgase wiafy

D. L= wfwfy

= ATy fawedi & ® 9 ST 9T HWC

[Question ID = 2565][Question Description = 53_qSNz_PG_ECO_Q85]

A, B, C, D [Option ID = 10257]
A, C, B, D [Option ID = 10258)
B, C, A, D [Option ID = 10259]
B, A, C, D [Option ID = 10260]

1

HE PR R

Correct Answer ;-
a A B, C, D [Option ID = 10257]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: A lumpsum tax imposed on a monopolist cannot be shifted to the consumers,
Reason R: The lumpsum tax becomes a part of his fixed cost and it does not affect the marginal cost of production,

In light of the above statements, choose the most appropriate answer from the options given below

FH AT ag g . uw afusaT (A) 3 =7F g T g@osad ar (R) R s ¢

FTrwaa (A) : TFTIEHIIATE 9T e g ea T F suarerst 7T Hafm agdf v T gwar g

FTW (R) : THFALT FI ITFT THgitea v &1 Feqr gF 9547 § st 98 Ioores #t @tqtq avrg 57 v91RT $I91 8
SYU® FAAT T AT A, #A19 B a7 foFeai & 4 998 g sACHFT 47T HfHw

[Question ID = 2566][Question Description = 53_qSNz_PG_ECO_Q86]

Both A and R are correct and R is the correct explanation of A/(A) #t< (R) T/97 Tl 8 8T (R), (A) F1 92 ;&A1 [Option 1D = 10261]

Both A and R are correct but R is NOT the correct explanation of A/(A) siiT (R} ST #&1 § 925 (R), (A) 7 7€t =1meqy 98 £ [Option 1D = 10262]
A is correct but R is not correct/(A) TET & 7%= (R) W2 721 £ [Option ID = 10263]

A is not correct but R is correct/(A) 91 AE1 & 94 (R) F2I & [Option ID = 10264]

b B

Carrect Answer ;-
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# Both A and R are correct and R is the correct explanation of A/{A) #iT (R) 39T #gl € AT (R), (A} FT 9 =a=A4T & [Option ID = 1&}81&'. Personal Exams Guide

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: There is no incentive for a profit maximising producer to supply public goods
Reason R: If he produces it, he is unable to exclude people from consuming it and hence he cannot charge a price

In light of the above statements, choose the most appropriate answer from the options given below

fH A FITfEUaT g : g AfHFIT(A) FETH fEg g T gTUITR FIT(R) F & TH
Afrwgs (A) : FTT T ATTAFaT 9717 A7 IUTEF & Fow wrdafas gegaii # g 1€ Treagaagi &

FTI (R) : % T TAFT STATIT FLAT L, T AT ®1 IHFT ITNIT FL7 § Ifgsqma 074 # qaws & o gufog ag gex orfew
g FTEFATE

TN FAAT % Warw A, 49 g g faweat § & a9d Iugs saec w1 ga7 $1fvm
[Question ID = 2567][Question Description = $3_qSNz_PG_ECO_QB87]

1. Both A and R are correct and R is the correct explanation of A/(A) 3T (R) 29T 921 £ =T (R), (A) F1 ¥t AT E [Option 1D = 10265]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) T (R) 31T W&T € 97T (R}, (A) 7 W1 =0T&AT 921 & [Option 1D = 10266]
3. Adis correct but R is not correct/(A) B85 & T5=g (R) 51 721 & [Option 1D = 10267]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: New capital accumulation is the vehicle of technical progress
Reason R: Technical progress is embodied in new machines

In light of the above statements, choose the correct answer from the options given below

fA T FgaRTag g . v afysay (A) 3 ®7F g g AT g@osad aOr (R) R &7+ ¢
FTrwaT (A) : 99 (S 97 IHATHT FTATET 2

HTW (R) : gEAIF gafy 74T weftat & afyfga @it 2

SYUH FIFT F AHF |, 79 ¥ a7 fYwea) & § 999 SULE ITCFHTII7 H1f¥C

[Question ID = 2568][Question Description = 53_qSNz_PG_ECO_Q88]

Both A and R are true and R is the correct explanation of A/(A) 3T (R) F19T w9 £ T (R}, (A) &7 1 =ATEAT & [Option D = 10269]

Both A and R are true but R s NOT the correct explanation of A/(A) 3 (R) 9T T2 €, =T (R), (A) F7 551 =607 951 £ [Option 1D = 10270]
A is true but R is false/ (A) Fo7 2, =T (R) ¥ & [Option 1D = 10271]

A is false but R is true/(A) 199 2, 5T (R} T & [Option 1D = 10272]

PR

Correct Answer :-
» Both A and R are true and R is the correct explanation of A/(A) 3= (R) =191 59 § &< (R}, (A) §7 751 =m=a71 g [Option D = 10269]

89) Given below are two statements:

Statement [: Social Welfare Function (SWF) is a sort of social indifference map consisting of the Social Indifference Curves
(S1Cs) which shows the various combination of utilities that gives the same level of social welfare (SW).

Statement l|: Social Indifference Curves (51Cs} may not be convex or concave to the origin

In light of the above statements, choose the most appropriate answer from the options given below

A srwgafegae g :

FUT - | : THTT HEATH FAT (TH TG TF) TH THFIC FT AT AatgA19 araiy= g ™rad s gq707 «a F7ara70rs a7
(T T57Y) Y19 w47 a1 FABrar d9vaat &1 gafa a= grarfys aafygaas gaaaidan §

F97 - 1| ; AT gafyara as Safv & Saa gragaa A 1959 §
STUT FIAT F sUATF |, A1 T4 77 fAFeql & & 999 I7LF IACHFT AT /HC
[Question ID = 2569][Question Description = $3_qSNz_PG_ECO_Q89]

1. Both Statement | and Statement |l are correct/®9 | % || TAT @&t £ [Option ID = 10273]

2. Both Statement Il and Statement Il are incorrect/®4a9 | T [| =91 @7 € [Option 1D = 10274]

3. Statement | is correct but Statement Il is incorrect/F4 | & &, frg %47 || wora & [Option 1D = 10275]
4. Statement | is incorrect but Statement Il is correct/ a7 | &7 2, 3=y Fa7 || T&r & [Option ID = 10276]
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¢ Both Statement | and Statement [l are correct/m47 | &% || 591 @&t € [Option ID = 10273]

90) Given below are two statements:

Statement 1: One of the assumptions under OLS method states that the regression model is linear in the parameters, though
it may or may not be linear in the variables.

Statement ll: The variance of the error, or disturbance, term is not the same regardless of the value of the explanatory
variable under OLS.

In light of the above statements, choose the most appropriate answer from the options given below

M A wFaqfyreace -

FIT - | : o UA UH IUfy & staifs o gFareom 75 & O aurgaw giew tordize & 6y ¢ gy a0 o gg tfas adi ot
qHAT §

FA7 - Il : & TA UF F AAAT TTE FIA AT] I FHT 7T 5 A GV, e 770007 997 FHe0rw 93 v a9717 787
TYUF FATL T AT 7, 49 B v fFwswi § § 999 Ivgs sqc 1937 Ff¥rg .
[Question ID = 2570][Question Description = 53_qSNz_PG_ECO_Q9%0]

1. Both statement | and statement |l are correct/®% | i || ST w5t £ [Option ID = 10277]

2. Both statement | and statement Ul are incorrect/®4 | &% || ST 777 € [Option ID = 10278]

3. Statement L is correct but statement Ul is incorrect/® | WEr & , Toeg F99 || Tora & [Option ID = 10279]
4, Statement | is incorrect but statement Ll is correct/®9 | 977 &, =g F97 || TET £ [Option D = 10280]

Correct Answer :-
e Both statement | and statement |l are correct/®a+ | 3% || 29T ¥2r £ [Option ID = 10277)

Topic:- Economics_SHAAN_NOVZ1B

1) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India” constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016, Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households’ expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level,

frufafas i 7 aofge @39 9T sngTiey vt & goc Hifve

"grfaedt et Trae i Uy vHior Siw T aq namy e 8 3 s =Ar oftd® arewmw § wrem 9 oo wvtEs ke areafdmar
FTUF TADTF FATAT 79T § AT garedhita vararsit  Radwor § yrEifar ST affsrfr g ST af g srywhEs aforms zgaiq
g Pr 2016 ¥ 77 garedify srex (qeardd)) # edftwre o I & a1 @ Ay qreefiar @ g # aregg § ggayd afg g e
ardt, srgAta® gren € R 37 & 5 gaigam amaams @ st afamr §1 qeredify goara gesnddt @ arz Sy gafy &
FAAIT €T | fraT a7 gafy ofeardh 1 veared afnard w1 F garedifa ag 913 dragadi 9 d8aw $17 [2014 F

TATO T ATehI TawT<y 879 (A7) AT AT THATEET FY +H1T Y 13 & 919 | | D07 qveqias qRredia 7 Teqramg
AT srargt A0 9T T At oionfa s7=2 S s arrores a9 F g a5 gd 97 Fafy F ey s gEew gErehii
¥y FATRTT q1, g7 WY, FAF IFTFT AT U4 94, agfya TU | g at

Which time span has been described as the transition period of monetary policy?

frafufaa & & fra semafrsraifs Afrsresan s sgraar e .
[Question ID = 198][Question Description = §3_qSNz_PG_ECO_Q9%1]

1. 2014-2016/2014-2016 [Option D = 789]
2. 2016-2020/2016-2020 [Option ID = 790]
3. 2000-2014/2000-2014 [Option ID = 791]
4, 2008-2014/2008-2014 [Option D = 792]
Correct Answer :-

a 2014-2016/2014-2016 [Option D = 789]
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The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India” constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016, Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households’ expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level,

farmtarfarg e %7 ofge stz o9 g anatioy oAt @ sacfifwe :

"griaedt qrierdt Trae T Uy v iw A a9 nAes e 8 39 s =AT oftdw arewmw § wrem 9 oo wvfEs ke areafdmar
FTUF ARTH GATIT AGT § AT gaRredila gearerrstt # Radsor # oregffiar a1 qfasrFr wig ST ag & sryafas ofoorm gsoafa
& Pr 2016 ¥ g geTehify w&a (THarEd) #7 wFe e 9™ @ qr7 @ Ay oeeffar # s & qeaa § agagedf gfg g &
e, I ATa S arEd Rra 7a7 & U gaigam arears v9a< i T vhard 911 AaTesi i TeTems Uhansdt & a1 Fr Aafay #
FAAT TT X a7 97 aerfy ofvg el &Y wearard afaard w7 F garedify ag g Ao adt 9 d5a0 $17 [2014 F
AT TehITaw<y 9877 (A1) AT AT THATEET F1 +H1T Py ora & 919 | | D07 qveqias garedia 7 vearamg
FrAT wg gt AT 9T T Fra#r afcafy 9@ S usasras dda F g FHA7 g A7 Fafy o v gEroE garehifa
AT FAARYT 9T, TATATE WT, FUF IFTTTAC I ET 981, agia s7 8 fRac ot

What happened to the anchoring of inflation expectations?

garedtfy geararsi # Rawow (@ sPom) w1 F971890 2

[Question ID = 199][Question Description = 53_qSNz_PG_ECO_Q92]

1. Inflation expectations anchored in a strong form,/ TaTehiTd TeATaTy Hares ¥9 F 84T g€ [Option ID = 793]
2. Inflation expectations anchored in a weak-form in the post FIT period. /T #E 31 % A12 w1 A8 § YRredils Tomemd FA< o7 § B2 g4 [Option ID =

794]
3. There was no association between realised and expected inflation /et siTC TeaTiorg HEhifd § H1§ d=9 71 91 [Option ID = 795]
4. There was a negative association between realised and expected inflation/s{a= &t 1% o TT19T GFEEhifT ¥ =orea= Hae 91 [Qption (D = 796]

Correct Answer ;-
» Inflation expectations anchored in a strong form/qaTEhiTd Teamamy gert =9 § € g2 [Option ID = 793)

3) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India” constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016, Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households’ expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level,

farmtarfarg e %7 ofge stz o9 g anatioy oAt @ sacfifwe :

"griaedt qrierdt Trae T Uy v iw A a9 nAes e 8 39 s =AT oftdw arewmw § wrem 9 oo wvfEs ke areafdmar
FTUF TADIS FATAT 79T § AT garedhita vararsdt  Radsor § rEifar 1 afFsrfr aia ST ag g srywhEs aforms zgaiq
g Pr 2016 ¥ 7 garedify arsx (qearddh) # edfiwre o Sma & a1 @ Ay qreefiar @ og F aregs § ggaydf afg g
e, I ATa S arEd Rrg 7a7 & U gaigam e ars v9a< it viar<d #11 AEresi iy TeT1ems Uhasdt & a1 7T Aafay «
FAAIT €T | fraT a7 gafy ofeardd 1 vearand afnard w1 § garedify ag 913 dragadi 9 dsaw s [2014 F
AT TehI sy 9879 (A1) AT AT THATEET F1 +H1T Ty ora & 919 | | 07 qveqias garedia 7 vearamg
FIAT wg gt AT 9T T Fraar afcafy 9@ S s asras dda F g aHAT g A7 Fafy  dorw v gEroe garehifa
¥y FATiReT q1, geATeTe WY, FUF IFTT T U 9, agfya TU | Ry at

Which of the following index has been constructed?

frafafga & § ST T GIFIFH IATATAATE ?

[Question ID = 200][Question Description = 53_qSNz_PG_EC0O_Q93]

1. Index of monetary policy/diTa =i F==i% [Option ID = 797]

2. Index of inflation expectations/ qaTeETa Tearar g=+1+ [Option ID = 798]

3. Index monetary policy transparency for India/#m< & oy Atfgs Fifg graidar g=== [Option 1D = 799]
4. Index of transparency/9TL2EaT =% [Option 1D = 800]
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¢ Index of monetary policy/#tfe® fifa g==i® [Option ID = 797]

4) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India” constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households’ expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frwfafaa waia &7 ofEg < 9 9T srgTieg i & g9 g :

AT oY STt iET v S st gav o read R o T SR ofidw asgga 7 wrea & v iy Avfr greefda
FTUF GARTE FATIT 79T § ST qaredify seararst  Radsow F oregfdar & qiysr fr sig o 2 sryafas ofvwrr goafd
€ 5 2016 ¥ 7y gETehity w87 (@HEMES) F7 T FC HFT I § 17 § Ay qeat@ar S sa & qreqga & qgoyed gfggd €
A, T Afaw grey €8T w7t g B gafgurs anrdard Taael ot ofardt #57 garedfy geaterd uwenrddt # arg 2 safy A
FASIT T A BT 9t gafy ofa v saramd afvsard w1 F garedifa agy @ar & diaadl o axao s [2014 7
T saedifastd agra (a73e) AT T uhanddt 1 JFT HUATa B 915 | F 0T Freafas garesi i 7 yeararg
17T gt red ar gt Hrad) ofiafy 9 fry vw awrows g9 F gf Iwraw g o qafy F «ora s geey grrediiy
ALY LTI AT, TATATE AT, SIF SYACTAC AL &1 7L, aqgFa sv & Rac ot

What has empirical evidence shown?

frafafyg & & sarargatas argy eafar At ?

[Question ID = 201][Question Description = $3_qSNz_PG_EC0O_Q94]
1. Degree of policy transparency declined/=if& sreafsar # sfr # Fi<ree arg ¢ [Option 1D = 801]
2. Degree of policy transparency increased /=t areafitar & shor % 9f g2 & [Option 1D = 802]
3. Degree of policy transparency increased but after coming into force of FIT./ftffa arafim # dor ¥ af el g my e e A S am ¥
[Option ID = 803]
4, Actual inflation turned out to be high/Tr=T= qET#RITT =g WI 2 [Option ID = 804)

Correct Answer :-
e Degree of policy transparency declined /51T Te=fiaT & o+ ¥ Fiergs sE & [Option ID = 801]

5) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms, The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of impeort tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

famtarfarg e 7 ofgw st g9 g apaiog oAt @ sacdifwe :

"griaedt qrierdt Trae T Uy vHor Siw T a9 nams e i 39 s =Ar oftd® srewmw § wreg ¥ oo wvtes ke areafdmar
FTUF ARTH GATIT T4T § AT qaRredila vearearrstt # Radsor § eregffiar a1 qfasrFr wig ST o & sryafas aofoorm gaia
& Pr 2016 ¥ g geTehify @& (THarEd?) #7 wFe o 9™ ® qr2 @ Ay oeeffar # sa & qeaa § agaged 9fg g €
e, I AtaS arEd R $7a7 & U gaigam arears v9a< st viear<d #11 Aarest iy 7eeme vhansdt § a1 *r qafy #
FAAT TT X a7 9T qarfy ofvard &Y wexrard afaard w7 F garedifa agy Siar & Aoz adt 9 a0 $17 [2014 F

FATO T SrrehI Ty 9879 (FAT1Ee) ATk AT THATEET F1 +H1T Y ora & 919 | | D07 qveqias garediia 7 vearamg
It gt Ardf T Tt Fra#tr afcufy 9@ S s asras dda F g€ FHA7 g A7 qafy # dwrw v gEoE garehifa
A ALARYT AT, TATATE WT, FUF IFTTTAC T ET 981, agia I7§ o ot

Inflation expectations of which group was empirically tested?

fawfafaa o | fra aqg 1 grredl iy gegrarat s1arqafas odaw Prarrgr ?
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[Qu&ﬁtiﬂn ID = ZUZ][QUESUOH Description = 53_C|5NZ_PG_ECD_Q95] Your Personal Exams Guide
Only of professional forecasters/®a% TATIATT T ATA T4 =1 [Option ID = 805]

Only of Households/#==1 Ii=T<] &1 [Option ID = 806]

Both of professional forecasters and Households/ ST =977 FTer 9= i 7farl <41 #7 [Option 1D = 807]

Neither of professional forecasters nor Households/a TaTHAT 7T+ FTr Y=< &7 ofie 7 €7 9fETel &1 [Option 1D = 808]

oL B

Correct Answer :-
& Only of professional forecasters/Fia= THIHIT w1 AT Y2ELT &1 [Option ID = 805]

Topic:- Economics_SHAAN_NOVZ1C

1) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commeodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications, First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove, Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff, A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption,

frafafa et =7 sagd s T2 g8 7y vt F I ity .

LA FTCF TF AT AT Feuarlew FTSTHFTATATTFEAT S 9T 2 forgg SN arar 98 gawraraar g 5 Hrdr g o
et aeg § AT TATTTHAT ABAT ZT AFAT §, TG ATA D ANTT A T ITTT HT MRFATF FH ATAT 7 991 9§ ST
gaafeaa faz st afret=t #1 avaarqds AF1aaT AF FTITAT§ A0 3 T fargg - ST 797 9% At § v=q TAH #E
Ugeaqw adt At ArTeqFAT

TEAT, AT T% FEwraedts gl & oo afvs w1 7 w33 g guw, sqaa ag frar a2 5 afy os arcdoan 2 fRaraarar
SH gIIAT FfaT Erar e T80, I AT T AITT L°F D ST A (§AT ST AFAT ¢, SHE TEA H TG T2 ITNT F1 FHATT
FEUTEA A -HZTTIT TFT AT AT AFATE THFT FTL0 7 2 F% 797 w7 B gz a3 Awaow £ fargg geisr a1 geger Iwargq
TS - ETAAT A g = Ay & € g FETAMNRC A79 T STRT O - AZTIAT F7T AYF 7097 9 & < 9/ Ar479 479
FX AT | AfF AT § gErAr AT FRAT§ SEa< Aifw ag St I Irw Y wiwew W - FEgraar & Are IHT AR A0E
HATHT BT AH TAITA THATHATIE T FAICATIET FA ® AT &5 F Fga< Teq9 FT EIAT FI116 g T AT AT T ITHIT BT
e At sxar g

Which is the most appropriate instrument of trade protection?
HTITC AT FT 99 SILH T+ FIT - |1 g ?

[Question ID = 203][Question Description = $3_qSNz_PG_ECO_Q9%6]
Import tariff /#raTa 4 [Option 1D = 809]

Export tariff/f=Ta g7 [Option ID = 810]

Non-tariff barriers/¥% - o7& Wi [Option ID = 811]

Preduction subsidy /Fe9T=T <19 - ggraar [Option D = 812]

Y e

Correct Answer :-
e |mport tariff/#rara gF [Option 1D = 809]

2) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly, Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better, The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

frafufia =i 57 s+ 729 428 7 vt F su vy .
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LAY FTUF a0 AT AT FEaaiaor $TETH ATAAT AT ¢ 9% & g s arar s sas71A7AA1 & % Sl ane@rsonal Exams Guide
Pret aeg & TEITST TATTAF FHAT T AFAN S, T T17 F A9TT A ot T I20Te 37 wrefivs w0 qrar £ 998 9g AT

gaRag Aot afasrat o1 awaargds gFraar agf FTarar § a0 5 g fargg - s aTtar oF adt @ weg sad w1

HEeaqs adf AT ATLTFATE
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Developing countries are characterised by:
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[Question ID = 204][Question Description = 53_qSNz_PG_EC0O_Q%97]

Absence of both money markets and capital markets/TET FT=TL SR YAt FTITLT 14T $7 AT [Option 1D = 813)
Improper functioning of the capital markets/dsiT 9Tl #1 3t ¥ F74 F FIAT [Option D = 814]

Improper functioning of money markets /ST GTSITLT HT 1% ¥ F1F F FAT [Option D = 815]

Absence of capital markets/9=1 =TT 1 sq9ieafd [Option ID = 816]

bt B

Correct Answer :-
s Absence of both money markets and capital markets/HgT 7T 37 et AT=iTal =471 Fi AAqaieafa [Option 1D = 813]

3) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove, Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff, A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption,
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The obstacles for an industry to compete with more established foreign firms are due to:
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[Question ID = 205][Question Description = $3_qSNz_PG_ECO_Q98]

Lack of know-how and initial small level of output/FT FT ATE T ITUT= &1 TTEMHF F7 747 [Option ID = §17]
Lack of flexibility/@=Iei9= T 2rama [Option ID = 818]

Lack of markets/=T=T<i %7 2974 [Option ID = 819]

Lack of human resources/®THa SaT4AT &1 @41 [Option 1D = 820]
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Correct Answer :-
e Lack of know-how and initial small level of output/TTT FT &9TF &I FeaTs FF ITE9F F7 97 [Option 1D = 817]

4) Read the given passage and answer the questions that follow
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One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds thple2 M3t Exams Guide
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better, The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.
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Which of the following is effective in preventing external diseconomies

frafaflaa & & w17 - Frarg saral =7 Qw7 § yardr rard ?
[Question ID = 206][Question Description = $3_qSNz_PG_EC0_Q99]

1. Trade policies/=amam< Hifa=r [Option ID = 821]

2. Production subsidies/Zw9Te" I - &gE4T [Option 1D = 822]
3. Adirect tax/7ea% % [Option 1D = 823]

4. Tanff/g[=F [Optien ID = 824]

Correct Answer ;-
e Trade policies/=mare fifa=i [Option ID = 821]

%) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms, The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.
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Which of the following is a direct aid to domestic industry?

famfafaga o | #17 - o 29 SN 7 AT FETYAT R ?

[Question ID = 207][Question Description = S3_qSNz_PG_ECO_Q100]

1. Import controls/#r=Ta F=d=or [Option ID = 825]
2. Import quota/amgTa T [Option ID = 826]

3. Production subsidy /79T T - HZFAT [Option D = 827]

4. Patent rights/T¢z F stfa®Te [Qption 1D = 828)

Carrect Answer ;-
* |mport controls/sraTa = [Option ID = 825]




